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The angular speed of the earth such that the bodies lying on the equator may appear
weightless is

(R=radius of Earth and g=acceleration due to gravity)

Options :

21052950801. 1
21052950802. 2
21052950803. 3
21052950804. 4

Question Number : 1 Question Id : 21052912881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052950801. 1
21052950802. 2
21052950803. 3
21052950804. 4

Question Number : 2 Question Id : 21052912882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two vectors 4 and B are acting at an angle g, on an object. If the magnitude of their vector

product is /3 times their scalar product, the angle 8 between them is

1. 30°
2, 45°
3. 60°
4. 507

Options :

21052950805. 1
21052950806. 2
21052950807. 3
21052950808. 4

Question Number : 2 Question Id : 21052912882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ol Ofew 7 9yl 5 fodl i W g®I0 9-7d §U S o | 3R 3 Sias Ut & Ui
Id G UHEKHE &1 /3 0N &, Td 34 Il & aid DI g BVl &l BRI

1. 30°
2. 45°
3. 60°
4. 807

Options :

21052950805. 1
21052950806. 2
21052950807. 3
21052950808. 4

Question Number : 3 Question Id : 21052912883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A constant force F given F = 2i — j + 5k N acts on a body to move it along x-axis. The work

done by the body to move it by 2m along x-axis will be:

1.12)
216
3.0J
4.4

Options :
21052950809. 1



21052950810. 2
21052950811. 3
21052950812. 4

Question Number : 3 Question Id : 21052912883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1.12 )
2. 161
3.0
4.4 ]

Options :

21052950809. 1
21052950810. 2
21052950811. 3
21052950812. 4

Question Number : 4 Question Id : 21052912884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A ball of mass 5g is thrown downward from point A with certain initial velocity Vp towards a
hard floor. Without any loss of energy it rebounds from the floor at point 10m above the

original level. Thus, the initial velocity Vg of the ball is

1.10 'm/fs
2. 50 m/s
3. 14 m/s
4 28 m/s

Options :

21052950813. 1
21052950814. 2
21052950815. 3
21052950816. 4

Question Number : 4 Question Id : 21052912884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1.10 mi/s
2. 50 m/s
314 'm/s
4 28 m/s

Options :

21052950813. 1
21052950814. 2
21052950815. 3
21052950816. 4

Question Number : 5 Question Id : 21052912885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A wire of uniform cross-section is cut into three pieces, such that length of next piece is three
times the previous one, If resistance of the smallest piece is 30, the resistance of the original
wire will be?

1.90

2. 270
3. 3002
4. 390

Options :

21052950817. 1
21052950818. 2
21052950819. 3
21052950820. 4

Question Number : 5 Question Id : 21052912885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1..90

2. 270
3. 300
4. 390

Options :

21052950817. 1
21052950818. 2
21052950819. 3
21052950820. 4

Question Number : 6 Question Id : 21052912886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Food articles are to be kept in a refrigerator at a temperature of 12°C. If room temperature is
42°C, then what will be the coefficient of performance of the refrigerator?

1.12/30
2. 10/95
3..95/10
4,12/54
Options :
21052950821. 1
21052950822. 2

21052950823. 3
21052950824. 4

Question Number : 6 Question Id : 21052912886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
are gardl @l uEifad o 12°C druHH 9 3E T 8| R B4 d9HE 42°C § a9 YEiiad @
TG TOTids o9 g

1.12/30
2. 10/95
3..95/10
4.12/54

Options :



21052950821. 1
21052950822. 2
21052950823. 3
21052950824. 4

Question Number : 7 Question Id : 21052912887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A battery gives a current of 0.5A when connected across an external resistor of resistance 120
and a current of 0.25A when connected across an external resistor of resistance 300Q. What will
be the emf of the battery?

1.45V
290V
3.135V
4.18.0V

Options :

21052950825. 1
21052950826. 2
21052950827. 3
21052950828. 4

Question Number : 7 Question Id : 21052912887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1.45V
290V
3.135V
4,180V

Options :

21052950825. 1
21052950826. 2
21052950827. 3
21052950828. 4

Question Number : 8 Question Id : 21052912888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The young's modulus of elasticity Y of a wire fixed at one end, having uniform cross-sectional
area A to be determined by stretching it along its length by a load at the free end. If the error
associated with the measurement of mass M, length L, radius r and elongation | are 2%, 0.1%,
0.01% and 0.1% respectively, thus the maximum percentage error in the determination of Y is

1. 2.22%
2. 2.12%
3. 221%
4, 2.24%

Options :

21052950829. 1
21052950830. 2
21052950831. 3
21052950832. 4

Question Number : 8 Question Id : 21052912888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. 2.22%
2. 2.12%
3.221%
4. 2.24%

Options :

21052950829. 1
21052950830. 2
21052950831. 3
21052950832. 4

Question Number : 9 Question Id : 21052912889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Frequency (v) of oscillations of a simple pendulum of length 'I' is given by v = %E where ‘g’

is acceleration due to gravity. The dimensional formula of the quantity 'k’ can be written as

Options :

21052950833. 1
21052950834. 2
21052950835. 3
21052950836. 4

Question Number : 9 Question Id : 21052912889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052950833. 1
21052950834. 2
21052950835. 3
21052950836. 4

Question Number : 10 Question Id : 21052912890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given that coefficient of linear expansion of brass a=0.00002°C"". To increase the length of
brass rod by 1% the rise in temperature required will be

1. 750°C
2::500C
3. 200°C
4.100°C

Options :



21052950837. 1
21052950838. 2
21052950839. 3
21052950840. 4

Question Number : 10 Question Id : 21052912890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Uidd &1 de® TR 00D «=0.00002°C" fGG1 7T 2| Uidd ® B8 $I orals 1% Uidd 9¢H &
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1. 750°C
2::5007C
3. 200°C
4.100°C

Options :

21052950837. 1
21052950838. 2
21052950839. 3
21052950840. 4

Question Number : 11 Question Id : 21052912891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A black body of given surface area at temperature T emits certain amount of thermal radiation
per second, If the temperature of the black body is doubled, change of thermal radiation
emitted will be?

1. Two times more than the original value
2. 16 times more than the original value
3. (1/16) times the original value

4. (1/2) times the original value

Options :

21052950841. 1
21052950842. 2
21052950843. 3
21052950844. 4

Question Number : 11 Question Id : 21052912891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052950841. 1
21052950842. 2
21052950843. 3
21052950844. 4

Question Number : 12 Question Id : 21052912892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two elastic wires of same material-have their radii in ratio 3:1. These wires are stretched by
equal force. The ratio of the stress produced by them will be

1. 3:4
2. 1.3
3.19
4, 31

Options :

21052950845. 1
21052950846. 2
21052950847. 3
21052950848. 4

Question Number : 12 Question Id : 21052912892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. 34
213
3.1.9
4, 31

Options :



21052950845. 1
21052950846. 2
21052950847. 3
21052950848. 4

Question Number : 13 Question Id : 21052912893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(Sin wt + cos wt) is a periodic function, its time period will be
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Options :

21052950849. 1
21052950850. 2
21052950851. 3
21052950852. 4

Question Number : 13 Question Id : 21052912893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052950849. 1
21052950850. 2
21052950851. 3
21052950852. 4

Question Number : 14 Question Id : 21052912894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A batsman hits a ball with a speed of 14y2 ms~! in a direction 45° above the horizontal. The
maximum height attained by the ball ill be

20.0 m
10.0 m

1.

2

3.2 nm
0.7

4

1442 m

Options :

21052950853. 1
21052950854. 2
21052950855. 3
21052950856. 4

Question Number : 14 Question Id : 21052912894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U 9280 U 16 TR 142 ms~: @I 71d 4 UER Bl ¢ forga] (62 &fds T 45° FUR gl &l
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1.20.0 m
2.10.0m

V2
3—m
0.7

4.14y2 m

Options :

21052950853. 1
21052950854. 2
21052950855. 3
21052950856. 4

Question Number : 15 Question Id : 21052912895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The graph represents, position and time graph for a body. One can say about the body

5 10 15 20 t(s)

1. It has constant speed

2. It has constant acceleration

3. It is stationary

4. It has constant speed as well as constant acceleration

Options :

21052950857. 1
21052950858. 2
21052950859. 3
21052950860. 4

Question Number : 15 Question Id : 21052912895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052950857. 1
21052950858. 2
21052950859. 3
21052950860. 4

Question Number : 16 Question Id : 21052912896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An ac generation

1. Involves rotation of a coil in a magnetic field parallel to axis of rotation of the coil

2. Involves rotation of a coil in a magnetic field perpendicular to axis of rotation of the coil
3. Works in the principle of eddy currents

4. Involves just rotation of coil and there is no need of external electric or magnetic field

Options :

21052950861. 1
21052950862. 2
21052950863. 3
21052950864. 4

Question Number : 16 Question Id : 21052912896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052950861. 1
21052950862. 2
21052950863. 3
21052950864. 4

Question Number : 17 Question Id : 21052912897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A horizontal overhead powerline is at a height of 10m from the ground and carries a current of
200A from east to west. The magnetic field directly below it on the ground will be

1. 2 x 10°° T(south wards)
2. 2 x 10°% T{north wards)
3. 4 x 107 T(south wards)
4, 4 x 10°° Tfnorth wards)

Options :

21052950865. 1
21052950866. 2
21052950867. 3



21052950868. 4

Question Number : 17 Question Id : 21052912897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SHH H 10m B FHa W &I MaRes Wa rg- 2004 B fagqd ¥R of gd a2 3 ufgm ot
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Options :

21052950865. 1
21052950866. 2
21052950867. 3
21052950868. 4

Question Number : 18 Question Id : 21052912898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following graph gives correct variation of acceleration due to gravity 'g' as a
function y, distance from the centre of the earth? (R=radius of the earth)
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Options :

21052950869. 1
21052950870. 2
21052950871. 3
21052950872. 4

Question Number : 18 Question Id : 21052912898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TET @R g T r, edl & g © gdf, & 1Y BoH & el URaaH (99 & § SI- 97 3M1eRd &l 87
(R = Judt & Bg1 B)

E &

=Y

=¥

Options :

21052950869. 1
21052950870. 2
21052950871. 3
21052950872. 4

Question Number : 19 Question Id : 21052912899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A beam of protons and beam of electrons are moving parallel to each ather in opposite
direction in air. The beams are likely to

1. Repel each other

2. Attract each other

3. neither repel nor attract each other

4. Sometimes repel or attract, depending on the native of the medium

Options :

21052950873. 1
21052950874. 2
21052950875. 3
21052950876. 4

Question Number : 19 Question Id : 21052912899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052950873. 1
21052950874. 2
21052950875. 3
21052950876. 4

Question Number : 20 Question Id : 21052912900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A resistor of certain resistance R is able to produce 440 J of thermal energy in 22 s, When an
electric current of 2A is passed through the resistor. On increasing the electric current to 54,
the thermal energy produced in the same time will be

1.1.80 KJ
2. 2.20 KJ
3. 2,75 KJ
4 32 KJ

Options :



21052950877. 1
21052950878. 2
21052950879. 3
21052950880. 4

Question Number : 20 Question Id : 21052912900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1.1.80 KJ
2. 2.20 KJ
3. 2,75 KJ
4. 32Kl

Options :

21052950877. 1
21052950878. 2
21052950879. 3
21052950880. 4

Question Number : 21 Question Id : 21052912901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A piece of iron and a piece of germanium are cooled from the 400K temperature down to 77K.

1. The resistance of each of them increases
2. The resistance of each of them decreases
3. The resistance of iron increases and that of germanium decreases
4. The resistance of iron decreases and that of germanium increases

Options :

21052950881. 1
21052950882. 2
21052950883. 3
21052950884. 4

Question Number : 21 Question Id : 21052912901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052950881. 1
21052950882. 2
21052950883. 3
21052950884. 4

Question Number : 22 Question Id : 21052912902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A capacitor of capacitance 800 pF is charged by a battery of 220V. The energy stored in the
capacitor is nearly

1.0.38
2. 9.68 |

3.19.36 W
4,3872 W

Options :

21052950885. 1
21052950886. 2
21052950887. 3
21052950888. 4

Question Number : 22 Question Id : 21052912902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U YY1z forgant 41iiar 800 pF & @1 220V &1 §edl T H1Ef¥d & R 941 H tehhid FHoll 6 -

1.0.38 W
2. 9.68 W

3.19.36 W
4.3872 W

Options :

21052950885. 1
21052950886. 2
21052950887. 3
21052950888. 4



Question Number : 23 Question Id : 21052912903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A pendulum clock and a wrist watch both are taken deep in a mine. Which of the following
statements is correct

1. Both will show correct and same time

2. Pendulum clock will run fast and wrist watch will run slow

3. Pendulum clock will run slow and wrist watch will give correct time
4. Both will run slow and give same time

Options :

21052950889. 1
21052950890. 2
21052950891. 3
21052950892. 4

Question Number : 23 Question Id : 21052912903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052950889. 1
21052950890. 2
21052950891. 3
21052950892. 4

Question Number : 24 Question Id : 21052912904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The torque of a force, F = 2i — 3j + 4k about the origin when on a particle with position vector
is 2k is

1. 61 + 4]
2.4+ 6i+4
3. 6k

4.0

Options :

21052950893. 1
21052950894. 2
21052950895. 3
21052950896. 4

Question Number : 24 Question Id : 21052912904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U WM AeW 2k & PUR T TE F = 2§ — 3f + 4k 197 g HAU& 3 :

1. 60 + 4f
2.4f + 61+ 4
3. 6k

4.0

Options :

21052950893. 1
21052950894. 2
21052950895. 3
21052950896. 4

Question Number : 25 Question Id : 21052912905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A scale of 1m in length is balanced at its centre of gravity on a sharp edge. Now three small
rings are placed at 10cm mark and the scale is balanced at 40cm mark. If mass of the scale is
45g, then what will be the mass of each ring?

1.15g
25g

3.10g
4459

Options :
21052950897. 1



21052950898. 2
21052950899. 3
21052950900. 4

Question Number : 25 Question Id : 21052912905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 m TS o Hied &hd @] 39d o[ tg 91 U g YR O Ydiad el T 81 10em & HEH
TR oiF Bic] 91 3@ €1 71 § YT ¥ha B Wqo 40 cm | f&a1 741 3| 9fc hd @ Held 459 &
dl udd 71 &1 el g ;

1.15g
259

3.104g
4.45g

Options :

21052950897. 1
21052950898. 2
21052950899. 3
21052950900. 4

Question Number : 26 Question Id : 21052912906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will happen when the light suffers refraction while it travels from a rarer denser medium

1. Its wavelength increases but frequency remains constant
2. Its wavelength decreases but frequency remains constant
3. Its wavelength remain constant but frequency decreases

4. Its wavelength and frequency both decrease

Options :

21052950901. 1
21052950902. 2
21052950903. 3
21052950904. 4

Question Number : 26 Question Id : 21052912906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



U@ od fava A1e9H § 99+ 319H § 759 &3dl & df 393 39 o 9 #1817

1. P! A oF g W eaf fRRR @t
2. IUH! a4 aed Tl Ui HATa R el
3. 3P a0 oed R e tR=g gy gl
4, 3US! a4 oo T g g1 gl
Options :

21052950901. 1

21052950902. 2

21052950903. 3
21052950904. 4

Question Number : 27 Question Id : 21052912907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a parallel beam of monochromatic light of wavelength 600nm. It is allowed to pass
through slit of width 0.15mm. Assume that the angles involed are very small. The angular
divergence in which most of the light gets diffracted will be

1. 40 x 1073 rad
2.20x 103 rad
3.80x 103 rad
4. 90 deg

Options :

21052950905. 1
21052950906. 2
21052950907. 3
21052950908. 4

Question Number : 27 Question Id : 21052912907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
600nm TTGE B, TH1 & Wbl GHHI B0l &l Tl 0.15mm B 1211 T Fda- fear 10
© | Hditd SIvi i 9gd Siel AH®R SIvid fdda- foad fia = UhRl &1 fadd4 8ldi g, 98 & :

1. 40 x 1072 rad
2.20x 103 rad
3.80x 103 rad
4. 90 deg

Options :
21052950905. 1



21052950906. 2
21052950907. 3
21052950908. 4

Question Number : 28 Question Id : 21052912908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following phenomena establishes the transverse nature of light wave?

1. Interferance of light
2. Diffraction of light
3. Scattering of light
4. Polarisation cf light

Options :

21052950909. 1
21052950910. 2
21052950911. 3
21052950912. 4

Question Number : 28 Question Id : 21052912908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFrafafad geTef & 3 o1 4 oied ue & Uaid & wiftd &dl 82

1. U TRl & AldHR0
2, U1l &1 faad

3. TanTEl 1 W iuiE
4, UPTRI &l §aul

Options :

21052950909. 1
21052950910. 2
21052950911. 3
21052950912. 4

Question Number : 29 Question Id : 21052912909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A plane electromagnetic wave of frequency 30MHz travels in free space along the z-axis
direction. At a particular point in space and time B = 2 x 10-8jT. What will be the electric field §

at this point?

1. 3:-: 10261 Y/
2. 61 V/m
3. 3 X 107485 Y/

4. 0.6] V/m

Options :

21052950913. 1
21052950914. 2
21052950915. 3
21052950916. 4

Question Number : 29 Question Id : 21052912909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
30MHz AT B 3¢ TEDHIT T BT TP T Had Haikel H z - el G20 & i 15 Sl 8|
3fdfea H U faary fefg au S W § = 2x 10-9j7 & | 59 fdg W 9ggd &7 g 1 gmm

1.2 x 101 V/py
3. 3 X 1[}_151\ vf‘rnl

4.0.6] V/m

Options :

21052950913. 1
21052950914. 2
21052950915. 3
21052950916. 4

Question Number : 30 Question Id : 21052912910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is NOT correct?

1. Electromagnetic waves can be diffracted, refracted and polarized

2. Electromagnetic waves carry both energy and momentum

3. Electromagnetic waves exert radiation pressure

4. Material medium is required for propagation of electromagnetic waves

Options :



21052950917. 1
21052950918. 2
21052950919. 3
21052950920. 4

Question Number : 30 Question Id : 21052912910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fafafed 4 4 g Uy 981 981 & 2
1. degd TR a1 &1 [dda-, TIdd- auT §qul 51 Todl o
2. 35gd oG T 5 el aul 1id &iHl 8idl 6|

3. 3G gr@ T 4 fafeor g Sradi g1 _

4, 4¢Yd @1 91l @i thaH o U 5o & T1H &I fagddl sidl 6|
Options :

21052950917. 1

21052950918. 2

21052950919. 3
21052950920. 4

Question Number : 31 Question Id : 21052912911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the mass number of two nuclei, A and B, are 27 and 64 respectively, Then the ratio of the
radii of nuclei A and B will be

1. 64:27
2 43
3. 34
4, 2764

Options :

21052950921. 1
21052950922. 2
21052950923. 3
21052950924. 4

Question Number : 31 Question Id : 21052912911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



&l il A TYT B & foit YgTd Y= o 27 TYT 64 § | gideiafl A TY1 B &I fAsaredl &1
9T B

1. 64:27
2 4.3
3. 3:4
4. 2764

Options :

21052950921. 1
21052950922. 2
21052950923. 3
21052950924. 4

Question Number : 32 Question Id : 21052912912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the photoelectric effect, the threshold frequency depends upon

1. Intensity of incident light

2. Frequency of incident light

3. Nature of the material of emitting material

4. The potential drop between the anode and the photosensitive material

Options :

21052950925. 1
21052950926. 2
21052950927. 3
21052950928. 4

Question Number : 32 Question Id : 21052912912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UEIY faggd UHd § ceal ahl FyR exdl §

1. WebT=I i 3H19idd fheul &1 diadl IR
2. TRl i H1ufdd fon o ighi ||

3. IS X AK 7 Bl UPHd |
4. THIS GYT Bic! GUTe! 504 & A [94g &1 fIRIae ||

Options :

21052950925. 1
21052950926. 2
21052950927. 3
21052950928. 4




Question Number : 33 Question Id : 21052912913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron has been accelerated by a potential difference of V volts. The de Broglie
wavelength for the electron is given by

1 A= h
: XfEH!VE
_ hm

L= v2Ve
A= hv

3. KfEmE

F, i T h.‘rnfzw

Options :

21052950929. 1
21052950930. 2
21052950931. 3
21052950932. 4

Question Number : 33 Question Id : 21052912913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0% SOEC @1 @01 Uh TAHE 3R V volts SRT 501 7T 31 Sael @1 & sielt e 3 B

1A= h
' vamVle

> A= hm f s

. RV
3.4 f\.."EIRE

4, ) = hm sze

Options :

21052950929. 1
21052950930. 2
21052950931. 3
21052950932. 4

Question Number : 34 Question Id : 21052912914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A plane mirror rotating at an angular velocity of 5 rad/s reflects a light beam. What will be the
angular velocity of the light beam?

1.5 rad/s

210 rad/s
3. 15 rad/s
4, 20 rad/s

Options :

21052950933. 1
21052950934. 2
21052950935. 3
21052950936. 4

Question Number : 34 Question Id : 21052912914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
5 rad/sec @ DIVIY 31 F YOIH BT §H1 U FHAT GUUL, BRI B T (201 BT WIdc- dedl g
UehTel fche Ul T HIvig o7 &1 BRI?

1.5 rad/s

2. 10 rad/s
3. 15 rad/s
4, 20 rad/s

Options :

21052950933. 1
21052950934. 2
21052950935. 3
21052950936. 4

Question Number : 35 Question Id : 21052912915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A parallel beam of light of wavelength 600 nm falls normally on a slit of width 'a’. Find the
value of 'a’ so that the first order diffraction maximum occurs at an angle of 30°.

1.1.1% 108 m
2.12x10%m
3.13x10%m
414%x10%m

Options :



21052950937. 1
21052950938. 2
21052950939. 3
21052950940. 4

Question Number : 35 Question Id : 21052912915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

600 nm ] FHHIGE UHTRI 30 T &4 U UP 'a° dials & 138 W Usdl o) 4fg 30° W UYH
@ifc @1 fagad SwIad eidl & ol 'a' BT A J1d DIod ;

1.1.1x10%m
2.12x10%m
3.13x10%m
414%x10%m

Options :

21052950937. 1
21052950938. 2
21052950939. 3
21052950940. 4

Question Number : 36 Question Id : 21052912916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Primary of a transformer contains 50 turns while its secondary coil contains 150 turns. It is
used to step up 220V at 10A. If efficiency of the transformer is 90% then how much will be the
current in the secondary coil?

Options :

21052950941. 1
21052950942. 2
21052950943. 3
21052950944. 4

Question Number : 36 Question Id : 21052912916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Wﬂﬂﬁ?ﬁmmﬂﬁ_ﬁﬁm@?ﬂ%@?ﬁﬁﬁﬂﬁ Eﬂaﬁwmﬁmzzwﬁm -
o e @2d € | afE TIImTER &1 G&rdT 90%  df 38 fadide Dol § fea- [dggd YR gRil?

3. 304
4. 34

Options :

21052950941. 1
21052950942. 2
21052950943. 3
21052950944. 4

Question Number : 37 Question Id : 21052912917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two concentric circular loops lying in the same plane are of radii riand rz (r1 < < r2). The
mutual inductance between them is

Holiy ™

Hplih
2r

Options :

21052950945. 1
21052950946. 2
21052950947. 3
21052950948. 4

Question Number : 37 Question Id : 21052912917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



&l HfHfd JUOR qU THe! FHde TR S © SR S0 ol r @l 18 (1 < < )| §1®
U Rehed ©

HoTrs”
2
pomr;
21,

T L =

2
HoTTy

215

1.

P

Options :

21052950945. 1
21052950946. 2
21052950947. 3
21052950948. 4

Question Number : 38 Question Id : 21052912918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Particle A has a charge +q and the particle B has a charge of +16q. Each having the same mass
m. When allowed to fall from rest through the same potential difference, the ratic of their
speeds Va/Vg will be

1. 4:1
214
3. 24/2:1
4.1:22

Options :

21052950949. 1
21052950950. 2
21052950951. 3
21052950952. 4

Question Number : 38 Question Id : 21052912918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



BN A TR A +q & a4 HU B UL HIG +16q & AR 3! Yafd TaH 21 aiHl &l o RR
HTRT Y U ol fayd <ok § U TR1d 8 1 3901 TWIST Va/Ve BT

1. 4:1
214

3.242:1
4.1:242

Options :

21052950949. 1
21052950950. 2
21052950951. 3
21052950952. 4

Question Number : 39 Question Id : 21052912919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A capacitor of capacitance C is fully charged by a 200V supply. It is then discharged through a
small coil of resistance wire embedded in a thermally insulated block of specific heat 3.5 x 107
JKg ' K1 and of mass 0.2 Kg. If the temperature of the block raises by 0.4 K, what will be the
value of C?

1.1000 pF
2.1200 uF
3. 1400 uF
4,1600 pF

Options :

21052950953. 1
21052950954. 2
21052950955. 3
21052950956. 4

Question Number : 39 Question Id : 21052912919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



C I & GUTRA &1 200V &1 GEis ° Gl &9 4 TGRS 1091 T 8| T9D1 Ud Biel Wiaud
R ®1 Dol H HIG Had ®d & | Dadl U 0.2 Kg Held AR ARF FH35x 102 IKg 'K &
SYqciies i H da o | 4fe &iid &1 dlU 0.4 K d¢ o1 dl C 1 HF &1 g1 ?

1.1000 pF
2.1200 uF
3. 1400 pF
4. 1600 pF

Options :

21052950953. 1
21052950954. 2
21052950955. 3
21052950956. 4

Question Number : 40 Question Id : 21052912920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Expression for average radius of a nucleus and hence the radius of a given hypothetical
nucleus 5’;}{ will respectively be [Given that Rg=1.1 fm]

1.R = RgA12 8.8 fm
2.R =RgA? 4.4 fm
3. R =RgAY? 33 fm
4. R =RpAVE 2.2 fm

L

L

Options :

21052950957. 1
21052950958. 2
21052950959. 3
21052950960. 4

Question Number : 40 Question Id : 21052912920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Afien & 3d Brar @i siftegidd quT ue Sreafias A1f¥Hd §4x &1 I8d SR U fHrsar gifl
HH: ([GTT & : Ro=1.1 fm)

1.R = RgA12 8.8 fm
2.R = RgA? 4.4 fm
3.R =RgA? 33 fm
4. R =RpAVE 2.2 fm



Options :

21052950957. 1
21052950958. 2
21052950959. 3
21052950960. 4

Question Number : 41 Question Id : 21052912921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are four atoms hydrogen (1H), deuterium (2H), Tritium (3H) and singly ionised helium
atom (3H)*. These under go transition from third orbit to first orbit. If Ay, Az, Az and A4 be the

respective wavelengths of the emitted light by the atoms, then correct statement will be

1. AM=has A<y
2. M=ha=As3<y
3. A<ha<ha<y
4 M=A=has My

Options :

21052950961. 1
21052950962. 2
21052950963. 3
21052950964. 4

Question Number : 41 Question Id : 21052912921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BIRSIo & IR WA § - Slegior (1H), SIRFH (3H), fefeaw (3H) SR vaa smfd g
URAI ($H)* | U dIGR & 4 Ugcil Hal H ShHU 9 ToRd 8| 16 Ay, Ay, As 3R Ay TRATIS]
SR Icioid UDH T &I Gei¥d o7 o2 § dl Feied § 4 SH 9 Y- el g ?

1. AM=Aazda<M
2. hM=ho=ha<My
3 Ai<hosha<hy
4 hM=Ho=h3>Ng

Options :

21052950961. 1
21052950962. 2
21052950963. 3
21052950964. 4

Question Number : 42 Question Id : 21052912922 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

238U converts into 235Pb by radio active decay process. How many a-particle and B-particle

may be emitted in the process

1. 8a and 8p
2. 5aand 12p
3. Ba and 6p
4. 6o and 8P

Options :

21052950965. 1
21052950966. 2
21052950967. 3
21052950968. 4

Question Number : 42 Question Id : 21052912922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2381y IfSTTeET & Ufsha 2RT 208ph H URERId &1 @Il 81 39 Uishdr H fha o- B AR - B
Iluid 5l 9dd o7

1. 8o 3R 8B
2. 5a AR 12p
3. 8a 3R 6p
4. 60 3R 8p

Options :

21052950965. 1
21052950966. 2
21052950967. 3
21052950968. 4

Question Number : 43 Question Id : 21052912923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The electrical conductivity of a semiconductor increases when electromagnetic radiation of
wavelength shorter than 2400 nm is incident on it. The band gap (in eV) for the semiconductor
would be (h = 6.63 x 1034 5)

1.033 eV
2. 080 eV
3. 052 eV
4.0.10 eV

Options :

21052950969. 1
21052950970. 2
21052950971. 3
21052950972. 4

Question Number : 43 Question Id : 21052912923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Od 2400 nm 9 Blel a1 ¥ @ faggd 9aa g fafeu U e gice W 9sdl & of 39 @i
faggd arcdal 9 9l &1 29 Y I (@ heae) B &5 Sfavid (eV H) T :

1.0.33 eV
2. 0.80 eV
3. 052 eV
4.0.10 eV

Options :

21052950969. 1
21052950970. 2
21052950971. 3
21052950972. 4

Question Number : 44 Question Id : 21052912924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the Ferromagnetic material the susceptibility is

1. Large and negative
2. Large and positive
3. Small and positive
4. Small and negative

Options :
21052950973. 1



21052950974. 2
21052950975. 3
21052950976. 4

Question Number : 44 Question Id : 21052912924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cg g g Uerd (Huice HERyT) H Haegiad ¢ -

1. G931 AR TBRIED
2. §31 3R IHRIED
3. Biel 3R GHRIES

Options :

21052950973. 1
21052950974. 2
21052950975. 3
21052950976. 4

Question Number : 45 Question Id : 21052912925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two point charges each in +q are kept at the two corners of a cube. The electric flux linked
with all the six faces of the cube will be

[
|

Options :

21052950977. 1
21052950978. 2
21052950979. 3
21052950980. 4

Question Number : 45 Question Id : 21052912925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



gl falg 3113w o T U@ BT AM + q 8 B TP U9 & &l DIHI IR 31 oIl g | 94 & el
I Tad! 4 9ol g [95gd Wi © -

[\_I
|

4I_

Options :

21052950977. 1
21052950978. 2
21052950979. 3
21052950980. 4

Question Number : 46 Question Id : 21052912926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The potential difference (V) and the current (I) flowing through an instrument in an AC circuit
are V=10 cos wt and |=5 sin wt, respectively. The power dissipated by the instrument is

1. Zerow
22w
35w
450w

Options :

21052950981. 1
21052950982. 2
21052950983. 3
21052950984. 4

Question Number : 46 Question Id : 21052912926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
udl gfdhe  fodl 43 o fqyaiar (v) SR vaifed [aggd oRT (1) $H=E V=10 cos wt 3R | = 5 sin
w1 93T fadf ufda ©

1. Zerow
22w
35w

4. 50w



Options :

21052950981. 1
21052950982. 2
21052950983. 3
21052950984. 4

Question Number : 47 Question Id : 21052912927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A bucket contains some transparent liquid and the depth of the bucket is 50 cm. On looking
from above, the bottom appears to be raised by 5 cm. The refraction index of the liquid will be

1. 4/9
2. 7/9
3.10/9
4,11/9

Options :

21052950985. 1
21052950986. 2
21052950987. 3
21052950988. 4

Question Number : 47 Question Id : 21052912927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U% dlcd] § U UGl aid Y30 8 3R dleel &1 Te4E 50 941 8l 81 W Y 68 UL, 9] &l
acil -ird § 5 T 381 g3 Wdlld gid1 8| T3d &I Ui & -

1. 4/9
2. 7/9
3.10/9
4,11/9

Options :

21052950985. 1
21052950986. 2
21052950987. 3
21052950988. 4

Question Number : 48 Question Id : 21052912928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A message signal of frequency 15 KHz is used to modulate a carrier of frequency 1.5 KHz. The
side band produced are

1. 1485 KHz, 1500 KHz
2. 1500 KHz, 1515 KHz
3. 1500 KHz, 1530 KHz
4. 1485 KHz, 1515 KHz

Options :

21052950989.
21052950990.
21052950991.
21052950992.

AW N =

Question Number : 48 Question Id : 21052912928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

15 MHz 31dfd & F¢ 3 died (U0 (U9 &1 3UdNT 1.5 MHz H1dhd & digs (BRI) DI digae
H- & o7 [T a1 81 SdGd 958 88 6 -

1.1485 MHz, 1500 MHz
2. 1500 MHz, 1515 MHz
3. 1500 MHz, 1530 MHz
4. 1485 MHz, 1515 MHz

Options :

21052950989. 1
21052950990. 2
21052950991. 3
21052950992. 4

Question Number : 49 Question Id : 21052912929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

To make n-type semiconductor, the dopant to be used is

1. Phosphorous
2. Indium

3. Boron

4. Aluminium

Options :
21052950993. 1



21052950994. 2
21052950995. 3
21052950996. 4

Question Number : 49 Question Id : 21052912929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
n- 213U AT (Ghidsaed) §4H o (oL o] Ui 9 (eid=) @ ais 6l ordl 87

2. ZiTeay
3. GRHA
4, TegHIATH

Options :

21052950993. 1
21052950994. 2
21052950995. 3
21052950996. 4

Question Number : 50 Question Id : 21052912930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify the GATE for the table given below

== O D
™ B e == % &
o e R T

T. NAND GATE
2. NOR GATE
3. AND GATE
4. OR GATE

Options :

21052950997. 1
21052950998. 2
21052950999. 3
21052951000. 4

Question Number : 50 Question Id : 21052912930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



I 2 TS SEE RN & O 98t T U

(o i == T s s = j

s B e s T
Lo T o Y s TR T

1. NAND 7€
2. NOR I
3. AND T2
4. ORTIE

Options :

21052950997. 1
21052950998. 2
21052950999. 3
21052951000. 4

Part II Chemistry 8
Section Id : 210529182
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529433
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 21052912931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following undergoes nucleophilic substitution exclusively by SNt mechanism?

1. Methyl chloride

2. Cyclohexyl chloride
3. Isopropyl chloride
4. Benzyl chloride

Options :



21052951001. 1
21052951002. 2
21052951003. 3
21052951004. 4

Question Number : 51 Question Id : 21052912931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fuffaa o O 391 sN; 99 811 fa2iy ©u O Yidaaiibiis ufawig— 9 Tewdl 87
1. YIS RIS S

2. HEdlelead s s
3.9 QEEEI?Q_E;E ESINET
4, 45 FRISS

Options :

21052951001. 1
21052951002. 2
21052951003. 3
21052951004. 4

Question Number : 52 Question Id : 21052912932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following has highest percentage of chlorine?

1. Chlorobenzene

2. Chioral

3. Pyrene

4. Hexachlorocyclohexane

Options :

21052951005. 1
21052951006. 2
21052951007. 3
21052951008. 4

Question Number : 52 Question Id : 21052912932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



oo O fuy i & uiaeg ity 27
1. TR g9

2. FARE

3. Ui

4, BF FAR] HiEaalaadq

Options :

21052951005. 1
21052951006. 2
21052951007. 3
21052951008. 4

Question Number : 53 Question Id : 21052912933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a compound, Y boils at 315 °C with little decomposition then, the impure compound Y can
be purified by

1. Simple distillation

2. Vacuum distillation

3. Extraction with solvent
4. Steam distillation

Options :

21052951009. 1
21052951010. 2
21052951011. 3
21052951012. 4

Question Number : 53 Question Id : 21052912933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gfe ue 9@, v ITST Uged & Yy 315°C W 3aadie, A SRS M@ Y®I BRI
B[ [l ol Gl &

1, GIE TG
2, Faig amaq

3. faaa® & 9y o
4, YT HTHE

Options :



21052951009. 1
21052951010. 2
21052951011. 3
21052951012. 4

Question Number : 54 Question Id : 21052912934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
On reaction of ethene with Baeyer's reagent, the product is

1. Ethane

2, Ethene

3. Diethyl ether
4. Ethylene glycol

Options :

21052951013. 1
21052951014.2
21052951015. 3
21052951016. 4

Question Number : 54 Question Id : 21052912934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T & IR AfFHe o Ty uafFaT m e SO s9d

1. T4

2. 1

3. SISUUEH 3

YR ER BRI EG AL

Options :

21052951013. 1
21052951014. 2
21052951015. 3
21052951016. 4

Question Number : 55 Question Id : 21052912935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following is most acidic?

1. Heptane-2,4-dione

2. Heptane-2,5-dione
3. Heptane-2 6-dione
4. Heptane-2 3-dione

Options :

210529510171
21052951018. 2
21052951019. 3
21052951020. 4

Question Number : 55 Question Id : 21052912935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frafied § 9 o g9d offts i 82

1. 8UcH-2,4- SRS
2. 8UcH- 2,5- BI53HIH
3. 8UcH- 2,6- BRI
4, g9eH- 2,3- S5l

Options :

21052951017. 1
21052951018. 2
21052951019. 3
21052951020. 4

Question Number : 56 Question Id : 21052912936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Benzoic acid reacts with nitric acid and sulphuric acid to give

1. 2-Nitrobenzoic acid
2. 3-Nitrobenzoic acid
3. 4-Nitrobenzoic acid
4. 2 4,6-Trinitrobenzoic acid

Options :
21052951021. 1
21052951022. 2



21052951023. 3
21052951024. 4

Question Number : 56 Question Id : 21052912936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sl 3, AEe® 3 AR GeHR® 3 & Uiy Ufafra e a1 891 6
1 2-:|!§E: aﬁ '\J'é o i

2. 3-ATSCIsAlgd 3]

5 4—:|!$E:Eir«ﬁ' QE S

4.2,4,6- TTgCla~Igd 3

Options :

21052951021. 1
21052951022. 2
21052951023. 3
21052951024. 4

Question Number : 57 Question Id : 21052912937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds does not exhibit optical isomerism?

1. Tartaric acid
2. Maleic acid
3. Lactic acid
4 Alanine

Options :

21052951025. 1
21052951026. 2
21052951027. 3
21052951028. 4

Question Number : 57 Question Id : 21052912937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



gfaRad # ¥ $F 91 IS Yau GHIGEaal DI Heli- Jg] dRdl o7

1. TRENS 3%
2. Hicg® 3
4, TerdH

Options :

21052951025. 1
21052951026. 2
21052951027. 3
21052951028. 4

Question Number : 58 Question Id : 21052912938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the product will be obtained in the reaction?

CHaNH;
,{\ HNO-
0-5°C

OH

i [/Lj
T CHLOH
3k
O

|

i
1O

Options :

21052951029. 1
21052951030. 2
21052951031.3
21052951032. 4

Question Number : 58 Question Id : 21052912938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FafaRad fufsear 5 &1 91 391G ure g Smee

CHaNH,
I
A HNO,
0-5°C

EFI
1. EHJ

CH>OH

Options :

21052951029. 1
21052951030. 2
21052951031. 3
21052951032. 4

Question Number : 59 Question Id : 21052912939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds have least pK; value?

1. NC-CH>3-CHz-NH2

2. N(CaHs)a
3. CH3NH3
4, HO-CH:3NH;

Options :

21052951033. 1
21052951034. 2
21052951035. 3
21052951036. 4

Question Number : 59 Question Id : 21052912939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



afaRad 7 59 TF1® &1 pk, 91 999 & B

1. NC-CH> -CH3z -NH;
2. N(CzHs)3

3. CH3-NH3>

4, HO-CH>NH>

Options :

21052951033. 1
21052951034. 2
21052951035. 3
21052951036. 4

Question Number : 60 Question Id : 21052912940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the percentage of adenine in DNA is 30%, then what will be the percentage of guanine?

1. 30%
2. 20%

3. 70%
4. 60%

Options :

21052951037. 1
21052951038.2
21052951039. 3
21052951040. 4

Question Number : 60 Question Id : 21052912940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TR ST H TS &1 Wid=d 30% &, 1 301134 BT Wid=id &1 gi?

1. 30%
2, 20%
3. 70%
4, 60%
Options :

21052951037. 1
21052951038. 2



21052951039. 3
21052951040. 4

Question Number : 61 Question Id : 21052912941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct option for Raffinose.

1. It 15 a monaosaccharide,

2. It is a disaccharide.
3. It is a trisaccharide.
4 Protein

Options :

21052951041. 1
21052951042. 2
21052951043. 3
21052951044. 4

Question Number : 61 Question Id : 21052912941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TS & e el [dehed &1 994 Y |

1. 98 Udh HANLGES 8
2. Jg TP SI5aoss ol
3. 78 U9 TRUPIZS ¢ |
4 UieH

Options :

21052951041. 1
21052951042. 2
21052951043. 3
21052951044. 4

Question Number : 62 Question Id : 21052912942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following monomers are unsuitable for condensation polymerization?

1. Ethanoic acid and ethanol

2. Hexane-1,6-dioic acid and ethylene glycol
3. Hexane-1,6-dioic acid and ethylenediamine
4. Hydroxyacids

Options :

21052951045. 1
21052951046. 2
21052951047. 3
21052951048. 4

Question Number : 62 Question Id : 21052912942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fafied teas J 9 o1F O §94 dgad- & (o8 S0 57

1, QU ® 3 3R TUATd

2. B - 1, 6 - SRHE® 3 3R T WEdia
3. BT - 1, 6 - SEHE® i R tdidHenadA
4, EIESIRIER

Options :

21052951045. 1
21052951046. 2
21052951047. 3
21052951048. 4

Question Number : 63 Question Id : 21052912943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following has the maximum crystallinity?

1. Atactic

2. Isotactic

3. Syndiotactic

4. Syndictactic and Atactic

Options :
21052951049. 1



21052951050. 2
21052951051. 3
21052951052. 4

Question Number : 63 Question Id : 21052912943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Frofafed & © fegd afiear fewedimar &2
23] QE-.IL '_a:E-. 3

3 %EﬂlQ‘}-l ﬂEiﬂaEm
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Options :

21052951049. 1
21052951050. 2
21052951051. 3
21052951052. 4

Question Number : 64 Question Id : 21052912944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is a secondary pollutant?

1. N5O
2. 505
3. CO;
4. PAN

Options :

21052951053. 1
21052951054. 2
21052951055. 3
21052951056. 4

Question Number : 64 Question Id : 21052912944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



9 5 9 ©F 91 Us fgdig® Wg® o7

1. N2O
2505
3. CO3
4, PAN

Options :

21052951053. 1
21052951054. 2
21052951055. 3
21052951056. 4

Question Number : 65 Question Id : 21052912945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Eutrophication of lakes means

1. low in nutrients and sediments

2. high in nutrients and sediments
3. high temperature
4, |ess fertile

Options :

21052951057. 1
21052951058. 2
21052951059. 3
21052951060. 4

Question Number : 65 Question Id : 21052912945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
iieil & Uyl &1 Aacd o

1. U dedl SR doee § &

2, UIYeh dedl SR daige H 3

3. 3= dIgqH
4, ©H JUdHlSH

Options :
21052951057. 1



21052951058. 2
21052951059. 3
21052951060. 4

Question Number : 66 Question Id : 21052912946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following gas is released on reaction of metal with sulphuric acid?

1. Chlorine
2. Oxygen
3. Hydrogen

4. Bromine

Options :

21052951061. 1
21052951062. 2
21052951063. 3
21052951064. 4

Question Number : 66 Question Id : 21052912946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e 3k & Gy urg @l 2ififshar )R Fafaied 9 3 o 9@ 19 o 82

1. TR
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4, I

Options :

21052951061. 1
21052951062. 2
21052951063. 3
21052951064. 4

Question Number : 67 Question Id : 21052912947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following has zero dipole moment?

1. NH3
2. H:0
3. Benzene
4, NO

Options :

21052951065. 1
21052951066. 2
21052951067. 3
21052951068. 4

Question Number : 67 Question Id : 21052912947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Frofafed 3 § fred g fya ol giar &

1. NH3
2. Ha0

3. 99

4. NO

Options :

21052951065. 1
21052951066. 2
21052951067. 3
21052951068. 4

Question Number : 68 Question Id : 21052912948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The amount of heat required to raise the temperature of a body through 1 °C is called its

1. Molar Heat

2. Specific Heat

3. Entropy

4. Thermal Capacity

Options :



21052951069. 1
21052951070. 2
21052951071. 3
21052951072. 4

Question Number : 68 Question Id : 21052912948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1°C & g1eg d fodl g &1 drguH g4 & fau siavas 81 &) O &) o del oldl &

2. fafRw Fw
3. T2l
4, YT &

Options :

21052951069. 1
21052951070. 2
21052951071. 3
21052951072. 4

Question Number : 69 Question Id : 21052912949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which point defect in crystals does not alter the density of the solid?

1. Frenkel defect

2. Schottky defect

3. Interstitial defect
4, None of the above

Options :

21052951073. 1
21052951074. 2
21052951075. 3
21052951076. 4

Question Number : 69 Question Id : 21052912949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



foheecl H &I 1 fag &Y 9 319 o U H URdaH el dRdl o7

1. hdhd Gy

2. Tied! oy

3, RN &Y

4, 399 A ®ig H 0
Options :
21052951073. 1
21052951074. 2

21052951075. 3
21052951076. 4

Question Number : 70 Question Id : 21052912950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1000 mg of a protein is dissclved in enough water to make 100.0 mL of a solution. If this
solution has an osmotic pressure of 13.3 mm Hg at 27 °C, what is the molar mass of protein?
(R =0.0821 L atm mol? K and 760 mm Hg = 1 atm)

1.14,074.3 g mol™’
2.13,074.3 g mol™
3.12,768.3 g mol™’
4,11,234.3 g mol™

Options :

21052951077. 1
21052951078. 2
21052951079. 3
21052951080. 4

Question Number : 70 Question Id : 21052912950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



U fdad & 100.0 mL &-1H & fo1U 99TE 9T H 1000 mg WIEH STl &dm 5l 4fe 39 faaga |
27.3 °C TR 13.3 mm Hg ®71 U WRIERY GId g, Tl HIclH @ HItR So08H &1 872
(R = 0.0821 L atm mol™' K1 3fR 760 mm Hg = 1 atm )

1.14074.3 g mol™’
2.13074.3 g mol™
3.12768.3 g mol™
4,11234.3 g mol™’

Options :

21052951077. 1
21052951078. 2
21052951079. 3
21052951080. 4

Question Number : 71 Question Id : 21052912951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the effect of adding a catalyst on the activation energy (Ea) of a reaction?

1. Activation energy decreases.

2. Activation energy increases.

3. Activation energy remains the same.
4. It depends on the reaction.

Options :

21052951081. 1
21052951082. 2
21052951083. 3
21052951084. 4

Question Number : 71 Question Id : 21052912951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052951081. 1
21052951082. 2
21052951083. 3
21052951084. 4

Question Number : 72 Question Id : 21052912952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which cell is used in automobiles and inverters?

1. Mercury Cell

2. Fuel Cell
3. Lead storage cell
4. Dry cell

Options :

21052951085. 1
21052951086. 2
21052951087. 3
21052951088. 4

Question Number : 72 Question Id : 21052912952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

JAieHERd AR 39¢< H (g Id &1 I9gI7 f6dl 91d 87

2. Be 9T
3. 08 49g9 4
4, e U

Options :

21052951085. 1
21052951086. 2
21052951087. 3
21052951088. 4

Question Number : 73 Question Id : 21052912953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following is a distinct feature of physiosorption?

1. It is caused by chemical bond formation.
2. It is highly specific in nature.

3. ltis irreversible

4. None of the above

Options :

21052951089. 1
21052951090. 2
21052951091. 3
21052951092. 4

Question Number : 73 Question Id : 21052912953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafaRad 3 O @a1 Yifae /e of te fofp Gemdaie 2

1. T OGS EY 7137 & BRU aldl &
2. I8 Uhid H HAiy® 9y B
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Options :

21052951089. 1
21052951090. 2
21052951091. 3
21052951092. 4

Question Number : 74 Question Id : 21052912954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The conductance in electrolyte conductors is due to

1. Flow of free mobile electrons.
2. Movement of ions.
3. Both of the above
4. None of the above

Options :

21052951093. 1
21052951094. 2
21052951095. 3
21052951096. 4

Question Number : 74 Question Id : 21052912954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
qYdeuged i H gidd by SRU Bl &
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Options :

21052951093. 1

21052951094. 2

21052951095. 3
21052951096. 4

Question Number : 75 Question Id : 21052912955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct option for function of a catalyst in a chemical reaction

1. Reduces enthalpy of reaction

2. Decrease rate constant of reaction

3. Increases activation energy of reaction

4. Does not affect the equilibrium constant of reaction

Options :



21052951097. 1
21052951098. 2
21052951099. 3
21052951100. 4

Question Number : 75 Question Id : 21052912955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U® IGEHE HfUfear § U 3dRa & ® & 10U el (e &l 944 @Y 7
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Options :

21052951097. 1
21052951098. 2
21052951099. 3
21052951100. 4

Question Number : 76 Question Id : 21052912956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the solubility product of Pb3(PO4): is 1.5 % 10732, then what will be the solubility in gms/litre?

1.292x 1077
2.494 x 10712
3.742 % 10%
4,892 x 1073

Options :

21052951101. 1
21052951102. 2
21052951103.3
21052951104. 4

Question Number : 76 Question Id : 21052912956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TG Pha(POL)> &I f[Aaadl TUHHd 1.5 x 10328, df faaddl gms/L H #1810 ?
g

1.292 x 1077
2. 494 x 10712
3. 742 x 10%
4,892 %107

Options :

21052951101. 1
21052951102. 2
21052951103. 3
21052951104. 4

Question Number : 77 Question Id : 21052912957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

At the same temperature, the average molar kinetic energy of N> and CO is

1. KEpo > KEcp
2. KEnz < KErp
3. KEpo = KEco
4. insufficient information given

Options :

21052951105. 1
21052951106. 2
21052951107. 3
21052951108. 4

Question Number : 77 Question Id : 21052912957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UF Bl d9HH IR N> 3R co & 39d Jiek 7ifds 3all #1 8

1. KEn2 > KEqg
2. KEnz < KErg
3. KEn2 = KEg

4, YT SHeR o

Options :

21052951105. 1
21052951106. 2
21052951107. 3



21052951108. 4

Question Number : 78 Question Id : 21052912958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to the Avogadro's law, what is the relation between velume of 1 kg mol of oxygen
and volume of 1 kg mol of nitrogen, at normal pressure and temperature? ( mass of 1 kg mol
of oxygen is 32 kg and mass of 1 kg mol of nitrogen is 28 kg)

1. volume of 1 kg mol of oxygen is greater than volume of 1 kg mol of nitrogen
2. volume of 1 kg mol of oxygen is less than volume of 1 kg mol of nitrogen

3. volume of 1 kg mol of oxygen is same as volume of 1 kg mol of nitrogen

4, none of the above

Options :

21052951109. 1
21052951110. 2
21052951111. 3
21052951112. 4

Question Number : 78 Question Id : 21052912958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TarTg! & 99 & SFIER, 1 kg AT SHGRISH BT HFG 3R 1 kg HId IR0 & TG & 91
e 91 & WA Ga1d 3R d9HEH W2 (1 5 SHRISH ST F0HH 32 kg € 3R 1 5T AgeoH
®1 3gHM 28 kg ©)

1. SIS & 1 kg Hid B TS ATZciaq & gol § Hidd sl o
2. SIS @ 1 kg HIT DI UG AISEIoH DI g H HH gidl &
3. HIFISH & 1 kg HIT &1 HGTH A1gclor & 99 Bidl &
4,390 Y oolg i 98l

Options :

21052951109. 1

21052951110. 2

21052951111. 3
21052951112. 4

Question Number : 79 Question Id : 21052912959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which statement is ‘true’ for K, the equilibrium constant of a specific reaction?

1. It may be changed by the addition of a catalyst.

2. It increases if the concentration of one of the products is increases.
3. It changes with changes in the temperature.

4. It increases if the concentration of one of the reactants is increased.

Options :

21052951113. 1
21052951114.2
21052951115. 3
21052951116. 4

Question Number : 79 Question Id : 21052912959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fafzry siftferar & w0 fRI® '« & [T 11 W 5y 981 82

1. 34 IAR® @i Suleaid d 9gal o 9&dl &

2. T8 954l & 3R UF JdIG & 950 & gfg et 2

3. 98 d/99H © 9gard & 91y ggadl g

4. U8 9541 & 3R Ud AfNHas o1 Qg § afg el 81

Options :

21052951113. 1
21052951114.2
21052951115. 3
21052951116. 4

Question Number : 80 Question Id : 21052912960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In some solutions, the concentration of HiO™ remains constant even when small amounts of
strong acid or strong base are added to them. These solutions are known as

1. ideal solution

2. colloidal solution
3. true solution
4. buffer solution

Options :

21052951117. 1
21052951118. 2
21052951119. 3
21052951120. 4

Question Number : 80 Question Id : 21052912960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Do [qad |, H:0* @I Y0l FRR Igdl 8, ofd D] A1 H Holgd 35 91 Hoigd &Re 394 oils]
ST 8| 31 [9a9- &1 791 Sl JId 5

1. fGH faazd
2. BiaEagd faagd
3. gy fgead
4, Iygufad faaaq

Options :

21052951117. 1
21052951118. 2
21052951119. 3
21052951120. 4

Question Number : 81 Question Id : 21052912961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In an open system, for maximum work, the process must be entirely

1. irreversible

2. reversible

3. adiabatic

4. none of the above

Options :

21052951121. 1
21052951122. 2
21052951123. 3
21052951124. 4

Question Number : 81 Question Id : 21052912961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ol Aol o, sifiedy &Y & fou, Ushd ol g diigd

1. HJepHOAT
2. pAA

3.$§£EH _

4,370 Yls Wi T8l
Options :
21052951121. 1
21052951122. 2

21052951123.3
21052951124. 4

Question Number : 82 Question Id : 21052912962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following drug is being used in cancer therapy?

1. Taxol

2. Azidothymidine
3. Brompheniramine
4. Meprobamate

Options :
21052951125. 1



21052951126. 2
21052951127. 3
21052951128. 4

Question Number : 82 Question Id : 21052912962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

$9z Fafeec # g | © feg g9 &1 399 fear sidr 87

2, AfTBURISRE
L :
. i h-IRTR

Options :

21052951125. 1
21052951126. 2
21052951127. 3
21052951128. 4

Question Number : 83 Question Id : 21052912963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ratio of mass of electron to proton is

1. 544 x 104
2. 544 x 10°
3.1.83 x 107
4,183 x 10*

Options :

21052951129. 1
21052951130.2
21052951131. 3
21052951132. 4

Question Number : 83 Question Id : 21052912963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



SeiacI-/UICH o %egHH BT 3FU &

1.544 x 10™*
2. 544 x 10°
3.1.83 x 107
4,183 x 104

Options :

21052951129. 1
21052951130. 2
21052951131. 3
21052951132. 4

Question Number : 84 Question Id : 21052912964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

List I List 1l
A, lonic . NH3.BF;
B. Covalent [l. HCI

C. Hydrogen bond |lIl. LiF
D. Coordinate bond|IV. HF

Choose the correct answer from the options given below:

TA-1,B=-l,C-IV,D-]
ZA-NLB-ILC-1,D-IV
3A-NILB-ILC-IV,D-I
4 A-1ILB-ILC-1,D-1V

Options :

21052951133. 1
21052951134.2
21052951135.3
21052951136. 4

Question Number : 84 Question Id : 21052912964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Ui | H €1 713 axgeil o1 Ul 11 H faT 1T IareRvll & iy e &)
Gfe | ufE N
A, D

. NH3.BF;

B. e ddiei® I, HCl
C. BIESIH &Y |IIl. LiF
D. SUHE IS HTEY IV, HF
i feu e fasedl © © Tl 3w g

TA-1,B=l,C-IV,D-I
ZA-NLB-ILC-,D-IV
3A-NILB-ILC-IV,D-I
4 A-1ILB-L,LC-1,D-IV

Options :

21052951133. 1
21052951134.2
21052951135.3
21052951136. 4

Question Number : 85 Question Id : 21052912965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements related to the modern periodic table is incorrect?

1. The p-block has 6 columns, because a maximum of & electrons can occupy all the orbitals in
a p-shell.

2. The d-block has 8 columns, because a maximum of 8 electrons can occupy all the orbitals in
a d-subshell.

3. Each block contains a number of columns equal to the number of electrons that can occupy
that subshell.

4. The block indicates value of azimuthal quantum number (1) for the last subshell that
received electrons in building up the electronic configuration.

Options :

21052951137. 1
21052951138.2
21052951139. 3



21052951140. 4

Question Number : 85 Question Id : 21052912965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e 3T IR ¥ Ysfia Fufiiad 3§ 3 ©H 9 &Y Tod o7

1. p-=iid H 6 31 Bl &, FIfP HAHaY 6 JddeH U p-Ud Bl daid § 1 Tbd o

2. d-ib 4 8 97 aid &, Fifd A UDHIY 8 ScideH ¢-Td Xd DI H&D 4 A Udhd 5

3. U &I H ScideHl B 4 & SRIa a7 6id & off 9d 2Id $I D& 5 o god ol

4, 3ffH gl Hd 2d & ferieiig Fgied e (1) & Hed &I Sifdsd ©edl & 9l gadc - [a=arg
o {410 & Saael-l & UTd &l o

Options :

21052951137. 1
21052951138. 2
21052951139.3
21052951140. 4

Question Number : 86 Question Id : 21052912966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

List | List 1I

A. spd l. Brfs

B. dsp” Il. PF3

C. sp3d? 1. [PtCls]*

D. d?sp? IV. [Co(NH3)e]**

Choose the correct answer from the options given below:

TA-ILB-LC-IV,D-I
ZA-ILB-ILC-1,D-1V
3A-NILB-ILC-IV,D-I|
4 A-1LB-ILC-1,D-V

Options :

21052951141. 1
21052951142.2
21052951143.3
21052951144. 4



Question Number : 86 Question Id : 21052912966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T -1 B -1l QGRS

BEIR g -1l

A. spd l. BrFs

B. dsp” I, PFs

C. sp>d? 111, [PECLy?

D. d®sp® V. [Co[NH3)s**

el feu T7C fadedl H ¥ 98l 3R g ;

TA-I,B-ILC-IV, D-I
ZA-ILB-ILC-1, D-IV
3A-IILB-ILC-1IV, D-I
4 A-1ILB-NLC-I D-IV

Options :

21052951141. 1
21052951142.2
21052951143.3
21052951144. 4

Question Number : 87 Question Id : 21052912967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

In the given equation

Phosphorus is undergoing oxidation as well as reduction.

P, + 30H +3H,0 — PH, + 3H,PO,

Reason R:

The phosphorus of PH;z is in +3 oxidation state and it is converted to -1 oxidation state in
H-PO5.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052951145. 1
21052951146. 2
21052951147. 3
21052951148. 4

Question Number : 87 Question Id : 21052912967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Tl Py RUTU S : U o Sy (A) IR GO & dob (R) el T4 &
STHHYH (A) : 6T U 9HiE0 § BRBRE Haau & 9iy-a1y 39994 H 32 8l ¢
P,+30H +3H,0 — PH, + 3H,PO,

T (R): PH; § BINBRY +3 HaIa0 JGRTH § 3R 98 H:P0,” H -1 HiGHmeu Gl §
ufvafdd gl o 31

Sulad dYHl b 3iciie H Fgiied [deedl § U Uel SR 9

(A) 3T (R) &HI TRI © 3R (R), (A) B! T&] oI &

(A) 3T (R) GHI Tel & T3 (R), (A) B Ue! oOREAT o) 6l
(A) Wel & U (R) Wel Tl ¢

(A) He! Tol & U3 (R) Hel §

Options :

21052951145. 1
21052951146.2
21052951147.3
21052951148. 4

1.
2.
3.
4. (A

Question Number : 88 Question Id : 21052912968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List I

List | List 11

A. Combination reactions |l Cr,0; (5) + 2Al (s) i., AlO; (s) = 2Cr (5)

B. Decompesition reactions|il. 2KC10; (s) i.. 2KCL (s) + 30, ()

C. Non-metal displacement|lll. CH; (g) = 20 (&) i- CO, (2) + 2H-0 (1)

D. Metal displacement IV. 2Fe (s) = 3H-0 (1) ip. Fea0: () + 3H- (2)

Choose the correct answer from the options given below:

T.A-1, B, C-IV,D-I
ZA-ILB=ILC-1,D-V

3A-NILB-ILC-IV,D-I|
4 A-ILB-ILC-1,D-V



Options :

21052951149. 1
21052951150. 2
21052951151. 3
21052951152. 4

Question Number : 88 Question Id : 21052912968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T -1 B -1l QGRS

REIS 1 -1l
A, TS . N
S IEE CriOs () +2A1 (5} —— - ALO; ()~ 2Ce (5)

B. 3(UES HBAT |II. 2KC10; (s) i- IKC1 (5) + 305 ()

C. Hurg fawmga
g CHy (g) = 202 (2) i.— CO, (2) + 2H,0 ()
"
D. Y7 fa=mg
2Fe(s) = 3HO0(1) — = FeaOz(s)+ 3H: (g)
id feu 70 fadedl H ¥ el 3R 9T :

TA-I,B=-LC-IV, D~I
ZA-NLB-ILC-1, D-IV
3A-IILB-ILC-1IV, D-I
4 A-1ILB-NLC-I D-IV

Options :

21052951149. 1
21052951150. 2
21052951151. 3
21052951152. 4

Question Number : 89 Question Id : 21052912969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Among LiH, NaH, KH, RbH, CsH, the correct order of increasing ionic character is

1. LiH = NaH = CsH > KH>=RbH

2. RbH > CsH > NaH > KH > LiH
3. LiH < NaH < KH < RbH < CsH
4. NaH » CsH > RbH > LiH = KH

Options :

21052951153. 1
21052951154. 2
21052951155.3
21052951156. 4

Question Number : 89 Question Id : 21052912969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LiH, NaH, KH, RbH, CsH H 30 9Nd & 9¢- @1 Yol A &l o

1. LiH > NaH = CsH = KH = RbH
2. RbH = CsH > NaH > KH = LiH
3. LiH <= NaH < KH< RbH < CsH
4. NaH » CsH > RbH > LiH = KH

Options :

210529511531
21052951154.2
21052951155. 3
21052951156. 4

Question Number : 90 Question Id : 21052912970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List 1l

A. Hz and Oz .. used in the name of perhydrol

B. D;O Il. can be used in cutting and welding
C. Ho05 Ill. atomic reactor

D.H V. produced from electrolysis of water

Choose the correct answer from the options given below:

TA-1,B-l,C-IV,D-]
ZA-IV,B-1l,C-1,D-1
3A-IV,B-1ILC-II,D-|
4 A-1ILB-ILC-1,D-1V

Options :

21052951157. 1
21052951158. 2
21052951159. 3
21052951160. 4

Question Number : 90 Question Id : 21052912970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 DI gl -1 4 gaferd sifo :

BEIR Tt -1l

AH, RO, | UREIESIA & 99 U SUGHT i oiidl &

B. D20 |, ®Te- 3R dfcan § %91 fbar 91 9l 8
C. H05 111, THT] Rude

D. H V. O & dydegged 4 3difad

i feu e famedl © © Tl 3w gHT

TA-ILB-I,C-IV, D-I
ZA-NMEBE-IILC-|, D=1
3A-IV,B-IILC-Il, D~
4 A-1ILB-1IlLC-I, D-IV

Options :

21052951157. 1
21052951158.2
21052951159. 3
21052951160. 4



Question Number : 91 Question Id : 21052912971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following metal halides is scluble?

1. BeCl;
2. MgCls
3. CaCly
4, 5rClz

Options :

21052951161. 1
21052951162.2
21052951163. 3
21052951164. 4

Question Number : 91 Question Id : 21052912971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gfaRad 5 ¥ ©F 4 Uiq eolge go-=iid & ¢

1. BeCl>
2. MgCls
3. CaClp
4, 5rCl>

Options :

21052951161. 1
21052951162. 2
21052951163. 3
21052951164. 4

Question Number : 92 Question Id : 21052912972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List Il

A. Na |. Brick Red
B.Cs 1. Yellow
C.Ca I1l. Blue
D.K IV. Lilac

Choose the correct answer from the options given below:

TA-ILB-LC-IV,D-1
ZA-V,B-1l,LC-1,D-1
3A-IV,B-1ILC-II,D-|
4 A-1ILB-ILC-1,D-1V

Options :

21052951165. 1
21052951166. 2
21052951167. 3
21052951168. 4

Question Number : 92 Question Id : 21052912972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl -1 & Gl -1l § GHferd DI :

Il -1 T -1

A. Na I 52 Sl Al
B. Cs 11, e

¢ Ca 111, =ian

D. K V. ST aPIeT
id feu 71U fadedl H ¥ WEl S 9T :

TA-I,B=-LC-IV, D~I
ZA-IV,B-IILC-I, D-1I
3A-IV,B-IILC-II, D-1
4 A-1ILB-NLC-I D-IV

Options :

21052951165. 1
21052951166. 2
21052951167.3



21052951168. 4

Question Number : 93 Question Id : 21052912973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Schottky defect is observed in crystals when

1. Some cations move from their lattice site to interstitial sites.

2. Equal number of cations and anions are missing from the lattice.
3. Some lattice sites are occupied by electrons,

4. Some impurity is present in the lattice.

Options :

21052951169. 1
21052951170. 2
21052951171. 3
21052951172. 4

Question Number : 93 Question Id : 21052912973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w4 fipeed 3 Qed! oY o 9l &

1. IS Y10 39 e Ui 9 ARIHR d5ey I 9 8
2. SiTEd © GHF Y91 AR B0 $ 9= e 541

3. $% Sl Higel UR sadei-| gRI deall HR oAl

4, W0 H S Sl HI9G BT

Options :

21052951169. 1
21052951170. 2
21052951171. 3
21052951172. 4

Question Number : 94 Question Id : 21052912974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is incorrect?

1. A depressant prevents certain type of particles to come to the froth.

2. Copper matte contains CusS and FeS.

3. The solidified copper cbtained from reverberatory furnace has blistered appearance due to
evolution of SO; during the extraction.

4. Zinc can be extracted by self-reduction.

Options :

21052951173. 1
21052951174. 2
21052951175.3
21052951176. 4

Question Number : 94 Question Id : 21052912974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFafaRad © 9 &1 91 $Y9 Tad 87

1. U HGUIE B UDR & HU Bl M &4 Y ABdl 8|

2. BIRHACH CusS AR FeS B B

3. QRIGARAI HET ¥ W 3T i Bl ol GETg adl & diid Hpyu & GRH SO, &1 Ha™
eI

4, i@ -390 4 Fo 5 96 gl

Options :

21052951173. 1
21052951174.2
21052951175. 3
21052951176. 4

Question Number : 95 Question Id : 21052912975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Extraction of chlorine from brine occur when

1. AGy for the overall reaction is negative and Ey for overall reaction has negative value.
2. AGy for the overall reaction is positive and Ey for overall reaction has negative value.
3. AGy for the overall reaction is positive and Ey for overall reaction has positive value.

4. AGy for the overall reaction is negative and Ey for overall reaction has positive value,



Options :

21052951177. 1
21052951178. 2
21052951179. 3
21052951180. 4

Question Number : 95 Question Id : 21052912975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AU W (§15) 9 FaRH &1 4By dd gidl &

1, 989 Yl & U AG, BUTES & 3R 999 #fUfsar & U £, &1 THRIES 94 & |

2. OuY JHfUfhdr & faU AG, THRIES & AR 09 HYThdl & fau £, &1 I0RIES 94 &1
3. 989 JfUihar & o AG, TORIE & AR I99 HiY4fthar & fou £, &1 9ERIES 91 &
4, Y A UGG & [0 AG, FPRED & AR 999 AUHT & o8 £, BT 9HRES 94 o

Options :

21052951177. 1
21052951178.2
21052951179. 3
21052951180. 4

Question Number : 96 Question Id : 21052912976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In the preparation of compounds of Xe, Bartlett had taken O, PtFg™ as a base compound due
to

1. Both Oz and Xe have same size.

2. Both O; and Xe have same electron gain enthalpy.

3. Both Xe and O; are gases.

4. Both O; and Xe have almost same icnisation enthalpy.

Options :

21052951181. 1
21052951182.2
21052951183. 3
21052951184. 4

Question Number : 96 Question Id : 21052912976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Xe @ U] B &1 & (o, FRTE 4 0-7PtF Bl YR & ¥4 H fergn o1 wifs

1. Gl 05 31 Xe T HFR THH B

2. G 05 AR Xe § THME saa2H a4 T &
3. GHl Xe AR 0, TH I

4, GHT 05 3R Xe H THT U f G TUA! 5

Options :

21052951181. 1
21052951182.2
21052951183. 3
21052951184. 4

Question Number : 97 Question Id : 21052912977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a pyrophosphoric acid molecule, how many single and double bonds are present?

1. 3 double bonds; 9 single bonds

2. 2 double bonds; 6 single bonds

3. 2 double bonds; 12 single bonds

4. Zero double bonds; 12 single bonds

Options :

21052951185. 1
21052951186. 2
21052951187. 3
21052951188. 4

Question Number : 97 Question Id : 21052912977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U UIRUBIEhING 3 U B, foa- umd SR fGd ey 919G 87

1.3 T6® EY: 9 Udha 29y
2, 2 T&p 3119Y: 6 U 1§y
3. 2 fg 3y 12 U HEY
4, 90 f5 @ A9y 12 T A=Y



Options :

21052951185. 1
21052951186. 2
21052951187. 3
21052951188. 4

Question Number : 98 Question Id : 21052912978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for SO; gas?

1. It acts as bleaching agent in meist conditions.

2. It has non-linear gecmetry.

3. It's dilute solution is used as disinfectant.

4. It can be prepared by the reaction of dilute H;SO4 with metal sulphide.

Options :

21052951189. 1
21052951190. 2
21052951191. 3
21052951192. 4

Question Number : 98 Question Id : 21052912978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafaRad ¥ 9 &4 W &4 71dd & 50; 79 & faw

1. 9g 9 Ruadl & faieH Toic & ¥4 H &1 oidl o

2. 39 U H IR-E JIEd B |

3. 291 gaell facg SIeuHERS & ©4 § SUgR] {6g1 oiidl & |

4. g8 U1 bl s & UTY SHTYE H,50, B Sififear § dgr foaar ol 9ohdi & |

Options :

21052951189. 1
21052951190. 2
21052951191. 3
21052951192. 4

Question Number : 99 Question Id : 21052912979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statement is true?

1. Interaction between particles of noble gases is due to weak dispersion forces.
2. lonisation enthalpy of molecular oxygen is very close to that of krypton.

3. Hydrolysis of XeFg is a redox reaction.

4. Xenon fluorides are not reactive.

Options :

21052951193. 1
21052951194. 2
21052951195.3
21052951196. 4

Question Number : 99 Question Id : 21052912979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FaftRea s o s YT 90 6|

1. 3P T4 H o-afeal &uif § SR U0 8§60 & SR eldl & |
2. HTUfga SaTo B HTAH Taydl P+ & 9gd &8 ¢

3. XeFs @1 9] 309c Ud Jala Uidishal o

4, M wIRE S sfufeaniia 7al g

Options :

21052951193. 1
21052951194. 2
21052951195. 3
21052951196. 4

Question Number : 100 Question Id : 21052912980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Zirconium belongs to 4d transition series and Hafnium to 5d transition series but still they
shows similar physical and chemical properties because

1. both belong to d-block.

2. both have same number of electrons.

3. both have similar atomic radius.

4. both belong to the same group of the periodic table.

Options :

21052951197. 1
21052951198. 2
21052951199. 3
21052951200. 4

Question Number : 100 Question Id : 21052912980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SR®DIAY 4d YHHU1 G 3R hiHEH 54 YHH0 4T & Sl Hidl & did ol 994
Yifde R TUEHS U feErd g ®ifd

1. GHI d-il 4 Yt B

2. GHl H ScideHl &1 OB THH € |

3. G & UXHT0] 99H B

4. G 3fTad 9ROl & U o 9 § efd B
Options :

21052951197. 1

21052951198. 2

21052951199. 3
21052951200. 4

Part III Biology 8
Section Id : 210529183
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50

Number of Questions to be attempted : 50



Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529434
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 21052912981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following types of plastid does not contain stored nutrients?

1. Elaioplasts

2. Amyloplasts
3. Chromoplasts
4. Aleuroplasts

Options :

21052951201. 1
21052951202. 2
21052951203. 3
21052951204. 4

Question Number : 101 Question Id : 21052912981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e d 9o Y T9% | NS dd 99l Fal gid 7

2, HEATRE
3. PHITRE
4, TR

Options :

21052951201. 1
21052951202. 2
21052951203. 3
21052951204. 4

Question Number : 102 Question Id : 21052912982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



E. coli growing in a medium containing radicactive thymidine was allowed to grow in normal
medium (without radioactive thymidine) for two generations. What percentage of bacteria will
have radioactive DNA strand?

1. 100%
2. 50%
3. 25%
4.12.5%

Options :

21052951205. 1
21052951206. 2
21052951207. 3
21052951208. 4

Question Number : 102 Question Id : 21052912982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fpiors gl Ulfedl & 564 o (U Yodiuided YRATaA Hend § gia: (o1 el ufdeg
urHar) H gidr g1 foa- ufad dacivar § ¥feal ufgeg S0 €5 i

1.100%
2. 50%
3. 25%
4.12.5%

Options :

21052951205. 1
21052951206. 2
21052951207. 3
21052951208. 4

Question Number : 103 Question Id : 21052912983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Asexual spores are generally NOT found in

1. Ascomycetes
2. Basidiomycetes
3. Zygomycetes
4, Deuteromycetes

Options :



21052951209. 1
21052951210. 2
21052951211.3
21052951212. 4

Question Number : 103 Question Id : 21052912983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SrcifiTe TR rg: 9 H TeT O W § 2

1. 9% TG

2. gIfafeal whg
3. S G
4. 3421 P0G

Options :

21052951209. 1
21052951210.2
21052951211.3
21052951212. 4

Question Number : 104 Question Id : 21052912984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

List I List 11

4. Schleiden and Schwann|l. Chromatin

B. Rudalf Virchow II. Nucleus
C. Flemming II. Cell theory
D. Robert Brown V. Omnis celluta-e cellula

Choose the correct answer from the options given below:

TA-NLB-IV,C-1,D-Il
ZA-,B-1,C-IV,D-I
3A-IILBE-IV,C-II,D-|
4 A-1ILB-ILC-IV,D-|

Options :

21052951213. 1
21052951214. 2
21052951215.3
21052951216. 4



Question Number : 104 Question Id : 21052912984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al -1 DI gl -1l 9 gafed SIfog ;

T | T -1

RS AR 4 . HEIEH

9. $alcp [l I Pad

g, T 111, IR gl

<. Uac d13 |\, SEY 9T - § - 9gan
i feu e fawedl o © Tgl IR g

T.H-I,4d-1vV, H-1,a-1l
2, d-1,"H-1V,a-1l
3 d-IVH -1, G-
4 -, 9-1,9-1V, G-I

Options :

21052951213. 1
21052951214.2
21052951215. 3
21052951216. 4

Question Number : 105 Question Id : 21052912985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following has least similar characters?

1. Family
2. Genus
3. Class
4, Species

Options :

21052951217. 1
21052951218. 2
21052951219. 3
21052951220. 4

Question Number : 105 Question Id : 21052912985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



gAY u T e AT & &2

2,991
3. d
4, Sifd

Options :

21052951217. 1
21052951218.2
21052951219. 3
21052951220. 4

Question Number : 106 Question Id : 21052912986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Red tide is caused by

1. Gonyaulax
2. Ceratium
3. Euglena

4, Navicula

Options :

21052951221. 1
21052951222.2
21052951223. 3
21052951224. 4

Question Number : 106 Question Id : 21052912986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A @R B & ;

2. Erdigg
3. gl
4, dipar

Options :

21052951221. 1
21052951222.2
21052951223. 3
21052951224. 4



Question Number : 107 Question Id : 21052912987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct with respect to ecological pyramids?

A.The base of each pyramid represents the producers or the first trophic level while the apex
represents tertiary or top-level consumer,

B.The pyramid of energy is always upright.

C.A given species can occupy only one trophic level in the same ecosystem at the same time
D.The pyramid of number in tree ecosystem is upright.

E.Saprophytes are not given any place in ecological pyramids

Choose the correct answer from the options given below:

1. A, B, C Only

2. A, C, D, EOnly
3. B, D Only

4. A B, E Only

Options :

21052951225. 1
21052951226.2
21052951227. 3
21052951228. 4

Question Number : 107 Question Id : 21052912987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



79 5 9 o+ ¥ oy uRfufde TfHs & deH H 1el 8

31, B¢ RIS &1 onuR axial & & Swe®! 91 4yd UiipEdl TR weie 9 O o a1 39
SUHIE

4. Bl Bl [UUHS GHA SR Bl 3R TId §

4. U wifq daa uRRUfAST &3 H Had U UiPddl ®R W U o) 990 9 8ldl &
&. Ug uiiufos! o 7 e RIS S| &1 3R 3idl 8
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1. $aad ¥ 99Uy
2. HaA 3, G g au g
3. haad Ul g

4 HIT A FIUY

Options :

210529512251
21052951226. 2
21052951227. 3
21052951228. 4

Question Number : 108 Question Id : 21052912988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

First clinical gene therapy was given in 1930 to a 4-year old girl child for treating

1. Insulin dependent diabetes

2. Phenylketonuria

3. Cystic fibrosis

4. Adenosine deaminase deficiency

Options :

21052951229. 1
21052951230. 2
21052951231. 3
21052951232. 4

Question Number : 108 Question Id : 21052912988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1990 H Ugdil 9% Wi (didecd] U 9 91 @] 9| @] 3UdR (gl 4]

1. 3¢ SMEMd HeHg

2. ftprg favel =g

3. FORes BrEeg

4, TSR SITHHASE & 4]

Options :

21052951229. 1
21052951230. 2
21052951231.3
21052951232. 4

Question Number : 109 Question Id : 21052912989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A plant bends towards the source of light when exposed to light on only one side. Which of
the following is the best explanation of the phenomenon?

1. They need light for photosynthesis

2. The apices of their stems are attracted by light

3. Some auxin accumulates on the shaded side to induce greater cell elongation on that side
4. Light stimulates the cells onthe illuminated side to increase in length

Options :

21052951233. 1
21052951234.2
21052951235.3
21052951236. 4

Question Number : 109 Question Id : 21052912989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oid Uh U191 UohT=l &1 SR gl & | F9 H I @ - U1 o9re ©4H & il 964 I9ga o |

1, 378 UOIS YR & (o0 UhTEl §i Sfgeadmdl aidl ol

2. T &1 SHFH SR USRI B 3R TSN sidl &

3. DO IR SHgI Bldl & <l DIAD] Felas] B g6l ol
4, 7o/ Udg W UHTE USdl & del &1 DI 3e4- slal o

Options :

21052951233. 1
21052951234. 2
21052951235.3
21052951236. 4




Question Number : 110 Question Id : 21052912990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Blood vessel carrying blood away frem glomerulus in a mammalian nephron is called

1. Renal artery

2. Efferent arteriole
3. Afferent arteriole
4, Vasa recta

Options :

21052951237. 1
21052951238.2
21052951239. 3
21052951240. 4

Question Number : 110 Question Id : 21052912990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
YR A% E WHE S O Yad Aidis @ o o ardl

1. 39 45T
2. 3Udiel Yo7
3. ATHaTe! YFl
4, 9] 382

Options :

210529512371
21052951238. 2
21052951239. 3
21052951240. 4

Question Number : 111 Question Id : 21052912991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The bark of a girdled tree (upto phloem) may become swollen after a few weeks because

1. Water will not move upwards

2. Water will not move downwards

3. Sugars and other organic materials will not move downwards
4. Sugars and other organic materials will not move upwards

Options :



21052951241. 1
21052951242. 2
21052951243. 3
21052951244. 4

Question Number : 111 Question Id : 21052912991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
DU @l US Bl BT (W0 dh) $E TEle & 85 B oldl g, a4iid
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2, Ol 1T @1 31X 7ol oidl 6
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Options :

21052951241. 1
21052951242.2
21052951243. 3
21052951244. 4

Question Number : 112 Question Id : 21052912992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List Il

List I List 11

A.Clavicle |l Pelvic girdle

B.Femur |ll. Knee cap

C.Ischium [ll.Thigh bone

D.Patella |IV. Pectoral girdle

Choose the correct answer from the options given below:

1. A-1V, B-lIl, C-1, D-lI
2. A-1V, B-l, C-lII, D-1I
3. A-ll, B-l, C-IV, D-11
4. A-1l1, B-1V, C-1, D-lI

Options :

21052951245. 1
21052951246. 2
21052951247.3
21052951248. 4



Question Number : 112 Question Id : 21052912992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T -1 B -1l QGRS

BEIR I -1

3, gl . Ofcam ufsd
CREN 1. g2 @i el
g, sieagH |11, ST BT 85l
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4. H-1,49-1vV,H-1, -1

Options :

21052951245. 1
21052951246. 2
21052951247.3
21052951248. 4

Question Number : 113 Question Id : 21052912993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The spread of living pteridophytes is limited and restricted to narrow geographical regions
because

1. Gametophytes are dependent on sporophytes

2. Sporophytes require cool, damp place to produce gametes
3. Gametophytes require cool, damp and shady places to grow,
4. They do not need water for fertilisation

Options :

21052951249. 1
21052951250. 2
21052951251. 3
21052951252. 4

Question Number : 113 Question Id : 21052912993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

21052951249. 1
21052951250. 2
21052951251. 3
21052951252. 4

Question Number : 114 Question Id : 21052912994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct regarding the structure of contractile proteins?
A. Myosin is a thick filament which is also a polymerized protein

B. The globular head of meromyosin is called the light meromyosin (LMM)

C. Actin is a thin filament and is made up of two F- actins

D. The complex protein, tropomyosin is distributed at regular intervals on the troponin

E. Two filaments of troponin run close to F actins

Choose the correct answer from the options given below:

1. A, B Only
2. A, D, EOnly
3. A, C Only
4.8, C, D Only

Options :

21052951253. 1
21052951254. 2
21052951255.3
21052951256. 4

Question Number : 114 Question Id : 21052912994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052951253. 1
21052951254. 2
21052951255. 3
21052951256. 4

Question Number : 115 Question Id : 21052912995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following spermatogenetic stages in a human male

A. Spermatids

B. Spermatocytes

C. Spermatogonia

D. Spermatozoa

Choose the correct sequence of spermatogenetic stages in a mature human testis

1. A,CB,D
2. C,BAD
3.D.CBA
4. CBDA

Options :



21052951257. 1
21052951258. 2
21052951259. 3
21052951260. 4

Question Number : 115 Question Id : 21052912995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052951257.
21052951258.
21052951259.
21052951260.

AW N =

Question Number : 116 Question Id : 21052912996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Radial symmetry is found in

1. Sponges, Coelenterates, Ctenophores

2. Annelids, Porifera, Platyhelminthes

3. Coelenterates, Ctenophores, Echinoderms

4. Coelenterates, Ctenophores, Platyhelminthes

Options :

21052951261. 1
21052951262.2
21052951263. 3



21052951264. 4

Question Number : 116 Question Id : 21052912996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1. ¥, Rye=der, ARy
2. THichs, URIh, Widle g
3. e el MelBRY, SoiEdisHY

Options :

21052951261. 1
21052951262. 2
21052951263. 3
21052951264. 4

Question Number : 117 Question Id : 21052912997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What will happen if the secretion of peptic or chief cells of gastric glands is blocked with an
inhibitor?

1. Gastric juice will be deficient in chymotrypsin

2. Gastric juice will be deficient in pepsinogen

3. Gastric juice will be deficient in mucus and bicarbonates

4. In the absence of HCl secretion, inactive pepsinogen is not converted into active enzyme

pepsin

Options :

21052951265. 1
21052951266. 2
21052951267. 3
21052951268. 4

Question Number : 117 Question Id : 21052912997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052951265. 1
21052951266. 2
21052951267. 3
21052951268. 4

Question Number : 118 Question Id : 21052912998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Triple fusion in angiosperms is the fusion of second sperm with

1. Antipodal cell and one synergid cell
2. Two antipodal cells

3. Two synergid cells

4. Two polar nuclei

Options :

21052951269. 1
21052951270. 2
21052951271. 3
21052951272. 4

Question Number : 118 Question Id : 21052912998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052951269. 1
21052951270. 2
21052951271. 3
21052951272. 4



Question Number : 119 Question Id : 21052912999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In Hatch and Slack pathway, carboxylation of RuBP and decarboxylation of C4 acid occurs in

1. Mesophyll cell and bundle sheath cells, respectively
2. Bundle sheath cells and mescphyll cells, respectively
3. Both in mesophyll cells

4. Both in bundle sheath cells

Options :

21052951273. 1
21052951274. 2
21052951275.3
21052951276. 4

Question Number : 119 Question Id : 21052912999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052951273. 1
21052951274. 2
21052951275. 3
21052951276. 4

Question Number : 120 Question Id : 21052913000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Down's syndrome is a genetic disorder due to the presence of an additional copy
of the chromosome number 21 (trisomy of 21).

Statement lI: The affected individual is short statured with small round head, is sterile and
expresses Gynaecomastia.

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052951277. 1
21052951278.2
21052951279. 3
21052951280. 4

Question Number : 120 Question Id : 21052913000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
EIEEACIE AR
HUF - | TORE H=A1 21 H U HfaRad Sidl S+ § 234 s vas rdies I 2|

BUT - |1 ; TMEAB IR 7 JFd safed § Siel oa 3R BIeT 7id RR U1 Tiadr el o
Iugad Bl B 3Teile H FEfRad fdeedl 3 9 98 ST g -

1. ®YF | AR G 9 B

2. YT | AR I BFT TH &

3. HYH | 9 &, foog DY 11 ST B
4 ®YF | 3T B, fog SYF | T B

Options :

21052951277. 1
21052951278.2
21052951279. 3
21052951280. 4

Question Number : 121 Question Id : 21052913001 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List II

A. Bicuspid (mitral) valve |. Between right atrium and right ventricle
B.Aortic semilunar valve |l. Between left atrium and left ventricle

C. Tricuspid valve Il. Between right ventricle and pulmonary artery
D. Pulmonary semilunar valve|lV.Between left ventricle and aorta

Choose the correct answer from the options given below:

1. A-ll, B-1V, C-lII, D-I
2. A-ll, B-IV, C-1, D-11
3. A-lll, B-1, C-lI, D-1V
4. A-ll, B-1ll, C-1V, D-l

Options :

21052951281. 1
21052951282. 2
21052951283.3
21052951284. 4

Question Number : 121 Question Id : 21052913001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 DI gl -1 4 gaferd sifo :

BEIR T -1
3 FEogs (G ag |1 & s R 9 Hog & O
9, dRfew YR A 1. 1Y 3ffeig 3R S g & 39

4. TIPS died 111, &8 (e IR @HA 45l & 7Y
& WHIAR YHIgR dled v, =T¢ ey 3R el & 599
= feu 7 fadedl H § 981 IR 9T

TH-1,d-1IV, 8-l G-
2=, d-V, 8-, -1
3H-N,"F-[H-1l, c- 1V
4. -1, 9-1,8-1V, g-1

Options :
21052951281. 1



21052951282. 2
21052951283. 3
21052951284. 4

Question Number : 122 Question Id : 21052913002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The best breeding method used for animals that are below average in productivity is

1. Cross-breeding

2. Interspecific hybridization
3. Out-crossing

4. Inbreeding

Options :

21052951285. 1
21052951286. 2
21052951287. 3
21052951288. 4

Question Number : 122 Question Id : 21052913002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HId 4 & H Ideddl & (o 9 H 399 W A © -

2. Sidlaftgd GHu
3. g1 U4
4, AT U=

Options :

21052951285. 1
21052951286. 2
21052951287. 3
21052951288. 4

Question Number : 123 Question Id : 21052913003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The phenomenon of ‘Industrial Melanism' demonstrates

1. Natural selection

2. Geographical isolation
3. Reproductive isolation
4. Lamarckism

Options :

21052951289. 1
21052951290. 2
21052951291. 3
21052951292. 4

Question Number : 123 Question Id : 21052913003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e Tales & 91 e=lidl & -

1. Ul a9+
2. YTy e
3. GO ST
4TI

Options :

21052951289. 1
21052951290. 2
21052951291. 3
21052951292. 4

Question Number : 124 Question Id : 21052913004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: A population growing in a habitat with limited resources show logistic growth.

Statement II: Any species growing under unlimited resource conditions can reach enormous
population densities in a short time.

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052951293. 1
21052951294. 2
21052951295. 3
21052951296. 4

Question Number : 124 Question Id : 21052913004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i &l By (U e 8 -
YT - | ; U AG B T8 1 golas) Sifd Wia § aifhs 9 1 2l 2|
B - 1| : Dis Hl ST SHHIHT Tid B SuRdfd § YRl SHESI 9-d H HHEHY Seiadl aaidl o

Iuddd ByH! & 3ffcie H Agfiiad famedl & 3 9 SR 94 ;

1. %Y | AR G 9 &

2. Y | 3R 11 SE I B

3. HYT | 9d B, fid &Y 1| S Bl
4, Y| HUA T, fobd DU 11 T B

Options :

21052951293. 1
21052951294.2
21052951295. 3
21052951296. 4



Question Number : 125 Question Id : 21052913005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A population in Hardy-Weinberg equilibrium consists of 300 sheeps, some black some white, If
the allele frequency for the recessive allele is 0.3, how many black sheep are there in the
population?

1. 210
2. 273
3.90
4 27

Options :

21052951297. 1
21052951298. 2
21052951299. 3
21052951300. 4

Question Number : 125 Question Id : 21052913005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“gral-fadet] Ude” @1 SH9En § 300 US § o9 o8 9bha o Sl & | 3R Tdid Hiddd!
i uollg & fow 0.3 § O S & @iel 4s & 93 fddi o

1. 210
2. 273
3.90
4,27

Options :

21052951297. 1
21052951298. 2
21052951299. 3
21052951300. 4

Question Number : 126 Question Id : 21052913006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statement is/are incorrect regarding polysaccharides?
A Inulin is a polymer of fructose

B. Both starch and glycogen are present as store house of energy in plant tissue
C. Glucose is a monomer of cellulose

D. Cellulose is a homopolymer while chitin is a heteropolymer

E. Starch does not contain complex helices and hence cannot hold 12

Choose the correct answer from the options given below:

1. A, B, C Only
2. B, D, E Only
3. B, EOnly

4. B, C, D Only

Options :

21052951301. 1
21052951302. 2
21052951303. 3
21052951304. 4

Question Number : 126 Question Id : 21052913006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Uicid®Rlss & 9R H & 91/ Y Y ¥el Jei & ?
H. 3feF waeis & 9509 o
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4. W { dicd eiciad Jal oidl oad 315 2 @I I® o] God]
f&u 70 faeredl ©f O el famed 9 -

1.3, 99Ul 9 bad
2.9 G dY g thadl
3. 9 dYl g bad

49 IY G Haa




Options :

21052951301. 1
21052951302. 2
21052951303. 3
21052951304. 4

Question Number : 127 Question Id : 21052913007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following steps involved in plant breeding

A. Cross hybridisation among the selected parents

B. Selection and testing of superior recombinants

C. Collection of variability

D. Testing, release and commercialisation of new cultivars

E. Evaluation and selection of parents

Choose the correct sequence of steps involved in plant breeding

1. ACEDB
2. CBAED
3. ACBDE
4 CEABD

Options :

21052951305. 1
21052951306. 2
21052951307. 3
21052951308. 4

Question Number : 127 Question Id : 21052913007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Ty Uoi - # BeH T § -

3. UR H&30 § 99T gde

4. g1d AR uR&U ¥ 95k O Yaias
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<. gieamr, e iR 9T Wiige &1 Adaiaiso

4. Udvil @ Hedidh Td 99

el o @ faded Ul Toi | MTHe BeH| & g+ o1 :

1.4 99 %9
24,4, 9,4 ¢
3.4 943
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Options :

21052951305. 1
21052951306. 2
21052951307. 3
21052951308. 4

Question Number : 128 Question Id : 21052913008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List 1l

List I List Il

A, Class Aves |. Presence of air bladder

B.Class Chondrichthyes||l.Circular and sucking mouth

C. Class Osteichthyes |lll. Air cavities in bones

D. Class Cyclostomata |IV.Absence of operculum

Choose the correct answer from the options given below:

1. A-IV, B+, C-II, D-II
2. A-ll, B-IV, C-1, D-IlI
3. A-lll, B-1, C-IV, DAl
4. A-ll, B-IV, C-, D-I

Options :
21052951309. 1



21052951310. 2
21052951311. 3
21052951312. 4

Question Number : 128 Question Id : 21052913008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl -1 & Gl -1l § GHferd DI :

T -| I -1l

3. g7 - wal |. §a1 AT I BH]
9. - By I, e @ 994 diel 48
. T - gy I11. 8§l ¥ arg e
. O - UIEdaeiHIe] V. OHTH @ U@
id feu e fasedl 9§ Ul I 9T ;

1T.H- W, d-F-1, -1
2=, d-V, 8-, -1
.-, d-1, 9 - I"u"?I—JI
4 dH-1,49d-1V,H-1, G-

Options :

21052951309. 1
21052951310. 2
21052951311. 3
21052951312. 4

Question Number : 129 Question Id : 21052913009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which part of the plant is best suited for making virus free plants during tissue culture
method?

1. Ovule

2. Embryo

3. Anther

4, Shoot meristem

Options :

21052951313. 1
21052951314. 2
21052951315.3
21052951316. 4



Question Number : 129 Question Id : 21052913009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Sam dat fafy H dreif i fqur] Had a9 & [0 Uie &1 S 91 4T Yy 3ugH ¢ ?

2. YUl
3. [RATH IR
4, 92 Ofven

Options :

21052951313. 1
21052951314. 2
21052951315. 3
21052951316. 4

Question Number : 130 Question Id : 21052913010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following phases of cell cycle

ALS

B.GZ2

C. G1

D.M

Choose the correct sequence of phases of cell cycle

1. CAB.D
2. DBAC
3. ACED
4. CADBE

Options :

21052951317. 1
21052951318.2
21052951319. 3
21052951320. 4

Question Number : 130 Question Id : 21052913010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
HITRIehT sh o dsh b fa¥g H :

3. @Y

9. 5il2

.9l

.. H
DI dsh & G Tehi @l ol pH H g ;

1.9 449 g
269 39
34449
49 8¢ d

Options :

21052951317.
21052951318.
21052951319.
21052951320.

AW N =

Question Number : 131 Question Id : 21052913011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
According to Central Pollution Control Board (CPCB), which particulate size in diameter (in
mmj} of the air pollutants is responsible for greatest harm to human health?

1. 3.0 or less
2. 4.0 or less
3. 2.5 orless
4,35 or less

Options :

21052951321.
21052951322.
21052951323.
21052951324.

AW DO~

Question Number : 131 Question Id : 21052913011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



s g WUl FUA0 918 (CPCB) & 29K, 91 Weba! & oo (FHT ) § feg &0 &1 SeR JFd
Ay o [oE qay 3@ GHaH ® oY [ORGR &7

1.2.0 91 394 ®H
2. 4091398 B
3. 25139 &Y
43571398 &Y

Options :

21052951321. 1
21052951322.2
21052951323. 3
21052951324. 4

Question Number : 132 Question Id : 21052913012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is/are correct regarding red algae?
A, Asexual reproduction takes place by motile spores

B. Sexual reproduction may be isogamous, anisogamous or cogamous
C. Food is stored in the form of floridean starch

D. They are called red algae because of the predominance of the red pigment, r-phycoerythrin

in their body
E. They possess chlorophyll a and d
Choose the correct answer from the options given below:

1. A, B, C Only

2. A, B, D, E Only
3. B, EOnly

4.C, D, E Only

Options :

21052951325. 1
21052951326. 2
21052951327. 3
21052951328. 4

Question Number : 132 Question Id : 21052913012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

21052951325. 1
21052951326.2
21052951327. 3
21052951328. 4

Question Number : 133 Question Id : 21052913013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List 1l

List | List I

A. Pusa swarnim .. Bacterial blight
B.Himgiri I.White rust

C. Pusa Komal lll. Tobacco mosaic virus
D. Pusa Sadabahar|lV.Leaf and stripe rust

Choose the correct answer from the options given below:

1. A-ll, B-, C-1V, D-
2. A-ll, B-IV, C-1, D-IlI
3. A-lll, B-1, C-lI, D-IV
4. A-ll, B-1l, C-1V, D~

Options :
21052951329. 1



21052951330. 2
21052951331. 3
21052951332. 4

Question Number : 133 Question Id : 21052913013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ol -1 D1 Il -1l Y gHied DI ;

BEIR BEIR]
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Options :

21052951329. 1
21052951330. 2
21052951331. 3
21052951332. 4

Question Number : 134 Question Id : 21052913014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Bryophytes are also called amphibians of plant kingdom because they can live in
soil and are not dependent on water for sexual reproduction.

Statement II: The main plant body of bryophytes is diploid and is called sporophyte.

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052951333. 1
21052951334. 2
21052951335.3
21052951336. 4

Question Number : 134 Question Id : 21052913014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052951333. 1
21052951334.2
21052951335.3
21052951336. 4



Question Number : 135 Question Id : 21052913015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement(s) is/are not correct regarding lysosomes?

A.  The hydrolytic enzymes of lysosomes are active under alkaline pH

B. Lysosomes are membrane bound structures

C. Lysosomes are formed by the process of packaging in the endoplasmic reticulum
D. Lysosomes have numerous hydrolytic enzymes

Choose the correct answer from the options given below:

1. A Only

2. B, D Only
3. A D Only
4. A COnly

Options :

21052951337. 1
21052951338. 2
21052951339. 3
21052951340. 4

Question Number : 135 Question Id : 21052913015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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21052951337. 1
21052951338. 2
21052951339. 3
21052951340. 4

Question Number : 136 Question Id : 21052913016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List II
A. Boron . Splitting of water during photosynthesis
B. Manganese |ll. Synthesis of auxin

C. Molybdenumilll. Component of nitrogenase

D. Zinc V. Pollen germination

Choose the correct answer from the options given below:

1. A-IV, B-1, C-llI, D-1I
2. A-ll, B-l, C-lIl, D-IV
3. A-ll, B-lIl, C-I, D-IV
4. A-1l1, B-1l, C-1V, D-I

Options :

21052951341. 1
21052951342. 2
21052951343. 3
21052951344. 4

Question Number : 136 Question Id : 21052913016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052951341. 1
21052951342.2
21052951343. 3
21052951344. 4

Question Number : 137 Question Id : 21052913017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Proteins encoded by genes crylAc and cryllAb control corn borer, that of crylAb
control the cotton bollworms

Statement II: Bt toxin protein exist as inactive protoxins but once an insect ingest the inactive
toxin, it is converted intc an
active form of toxin due to the alkaline pH of the gut

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4. Statement | is false but Statement |l is true

Options :

21052951345. 1
21052951346.2
21052951347. 3



21052951348. 4

Question Number : 137 Question Id : 21052913017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
EIEEA e ATk
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Options :

21052951345. 1
21052951346. 2
21052951347. 3
21052951348. 4

Question Number : 138 Question Id : 21052913018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statement(s) is/are correct regarding lysosomes?

A. Heroin is obtained from the latex of poppy plant

B. Cannabinoids effect cardiovascular system of human body

C. The drug obtained from Erythroxylem coca interferes with neurotransmitter dopamine
D. Cocaine commeonly called crack is chemically diacetylmorphine

E. Heroin has a potent stimulating action on central nervous system

Choose the correct answer from the options given below:

1.A, B, C, EOnly
2. B, D Only
3.A D, EOnly
4. A B, COnly

Options :

21052951349. 1
21052951350. 2
21052951351. 3
21052951352 4

Question Number : 138 Question Id : 21052913018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052951349. 1
21052951350. 2
21052951351. 3
21052951352. 4

Question Number : 139 Question Id : 21052913019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is required as inducer(s) for the expression of Lac operon?

1. Galactose

2. Lactose

3. Lactose and galactose
4, Glucose

Options :

21052951353. 1
21052951354.2
21052951355.3
21052951356. 4

Question Number : 139 Question Id : 21052913019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G MRA S SR & FU T uydi eldl & ;
2. TiFe g

3. TiFe g qyT Ty

Options :

21052951353. 1
21052951354. 2
21052951355.3
21052951356. 4

Question Number : 140 Question Id : 21052913020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Select the incorrect statement(s) about biodiversity

A It increases from high to low latitudes

B. Increased biodiversity contributes to higher productivity

C. Within a region, species richness increases with increasing explored area.

D. Loss of biodiversity in a region leads to decreased variability in ecosystem processes

E. Tropical environments promote niche specialization and lead to decrease in biodiversity
Choose the correct answer from the options given below:

1. A D only
2. B, C, D Only
3. B, Eonly
4. D, Eonly

Options :

21052951357. 1
21052951358. 2
21052951359. 3
21052951360. 4

Question Number : 140 Question Id : 21052913020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052951357. 1
21052951358. 2
21052951359. 3
21052951360. 4

Question Number : 141 Question Id : 21052913021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Organic compounds that are tightly bound te enzyme protein is called
prosthetic group.

Statement II: A complete catalytic active enzyme with its bound prosthetic group is called
apoenzyme,

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052951361. 1
21052951362. 2
21052951363. 3
21052951364. 4

Question Number : 141 Question Id : 21052913021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



EIEEAERIE AR
HY - | : Pla-D Uard Sl TTgH 4 Agdl 9 ool sidl & 34 Urfed (Prosthetic) THE ®ad o

@Y - 1 : U quf Giehy U=y G U UIRIfea (Prosthetic) T98 T S[al 8idl & UUITHRH
(Apoenzyme) BECI &

IUdd HYHT & 3Tciics § FgicRad [adedi 3 I Tel 3w 94 ;

1. @Y | AR N G 9T B

2. YT | AR I GHT 3 B

3. BYH | 9 B, fooe Y 11 ST B
4 ®YF | ST B, foq dYH 1 T B

Options :

21052951361. 1
21052951362. 2
21052951363. 3
21052951364. 4

Question Number : 142 Question Id : 21052913022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

List | List 1l
A. Tyhoid I. Trichophyton
B. Filariasis Il. Salmonella

C. Ringworms |lll. Entamoeba histolytica

0. Amoebiasis||V. Wuchereria

Choose the correct answer from the options given below:

1. A-IV, B-l, C-ll, D-1I
2. A-ll, B-1V, C-llI, D-I
3. A-ll, B-1V, C-1, D-IlI
4. A-ll, B, C-IV, D-11l

Options :

21052951365. 1
21052951366. 2
21052951367. 3
21052951368. 4



Question Number : 142 Question Id : 21052913022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al -1 D1 gl -1 9 gafed SIfog ;

T -1 gl -1

3, UTRES |. SISHIWIEed (Trichophyton)
B Wﬁﬁ'ﬁfﬁlﬂ I1. T (Salmonella)

. @] (Ringworms) 1. Ce el e iasied

G. Hiﬁaﬁﬁm IV, m (Wuchereria)
i feu e famedl H § 91 SR gL ;

1.H-IV, - H-1l, -1l
2=, d-V, -1, G-
3H-I,d-IV, 8 -1, -1
4. -1, 9-1L,"9-1V, -1l

Options :

21052951365. 1
21052951366. 2
21052951367. 3
21052951368. 4

Question Number : 143 Question Id : 21052913023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a method for ex-situ conservation?

1. Botanical garden

2. Wildlife safari parks
3. National parks

4. Zoological parks

Options :

21052951369. 1
21052951370. 2
21052951371. 3
21052951372. 4

Question Number : 143 Question Id : 21052913023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



g SRR TRem & fafd el 8 2

1. GUiag ST (Botanical garden)
2. §gSd BRI (safari) UTh

3. TG 3

4, 90i 39

Options :

21052951369. 1
21052951370. 2
21052951371. 3
21052951372. 4

Question Number : 144 Question Id : 21052913024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following steps involved in recombinant DNA technology
A. Downstream processing

B. Insertion of recombinant DNA into host cell

C. Isolation of genetic material

D. Obtaining the foreign gene product

E. Cutting of DNA at specific locations

Choose the correct sequence of steps

1.C,A B DE
2CEBDA
3.A,EB DC
4 CEDBA

Options :

21052951373. 1
21052951374. 2
21052951375.3
21052951376. 4

Question Number : 144 Question Id : 21052913024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



DNA GFHgISH dd-iid & o H

3. §gTd B feen

4. 8% DI ¥ YFdgifoid DNA ST JHG
4. HTafare gar &1 UHA (Isolation)

<. 91531 ofiF IS Bl U Bl

4. DNA BT faRIY =M | $re

f&u ¢ famenl 4 § 8 faded gHu:

1.9 8499
2499 49 ¢ J
3.4, 9,4, 4
44 49 G 9

Options :

21052951373. 1
21052951374. 2
21052951375. 3
21052951376. 4

Question Number : 145 Question Id : 21052913025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The main criteria for Five Kingdom classification proposed by Whittaker are:
A. Thallus organization

B. Cell structure

C. Repreduction

D. Gram staining

E. Phylogenetic relationship

Choose the correct answer from the options given below:

1. A B, D only
2. B, C, Eonly

3. A B, C Eonly
4.D, Eonly



Options :

21052951377. 1
21052951378. 2
21052951379. 3
21052951380. 4

Question Number : 145 Question Id : 21052913025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fagem g ufdarcd uie Oy avffee & 3& SUR © -
31, Y& (Thallus) X1

4. HIRTDT TG

. e

<. AeH RiHT

g, gEgeig ey

faw e fgpedi H 4 Ul fddey I -

1. ®HaqH, 9, G

2. $dd 4, 4,4

BN s [u B AR I
APIAC T

Options :

21052951377. 1
21052951378. 2
21052951379. 3
21052951380. 4

Question Number : 146 Question Id : 21052913026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is the main enzyme required for transcription?

1. DNA dependent DNA polymerase
2. DNA dependent RNA polymerase
3. RNA dependent RNA polymerase
4. RNA dependent DNA polymerase

Options :
21052951381. 1



21052951382. 2
21052951383. 3
21052951384. 4

Question Number : 146 Question Id : 21052913026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SIRIREE (Transcription) ﬁft_f—@] UET RS T GE'IFIT%:

1. DNA 3fTHTRd DNA TIeTHE
2. DNA 3IHTd RNA UTIEg
3. RNA 3fTeTId RNA TieiiHg
4. RNA TR DNA TTIeiag

Options :

21052951381. 1
21052951382. 2
21052951383. 3
21052951384. 4

Question Number : 147 Question Id : 21052913027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Endosperm is completely consumed by the developing embryo in all except:

1. Pea

2. Groundnut
3. Bean

4, Castor

Options :

21052951385. 1
21052951386. 2
21052951387.3
21052951388. 4

Question Number : 147 Question Id : 21052913027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



a6d gY YUT gRT YUIhIN &I A=Y [l oildl & :

1. §eX

2. HiTpail
3. 49

4, I3

Options :

21052951385. 1
21052951386. 2
21052951387. 3
21052951388. 4

Question Number : 148 Question Id : 21052913028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The eye of Octopus and eye of cat show different patterns of structure, yet they perform
similar function. This is an example of

1. homologous organs that have evolved due to divergent evolution
2. analogous organs that have evolved due to convergent evolution

3. analogous organs that have evolved due to divergent evolution

4. homelogous organs that have evolved due to convergent evolution

Options :

21052951389. 1
21052951390. 2
21052951391. 3
21052951392. 4

Question Number : 148 Question Id : 21052913028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

JHTaeiuy duT facel! & 3id g UHR &1 G391 G0 & Jy4ifd § THH &4 &d 6| 98 3aledv 8

1. eIty 37 foaT [dary ooarl faera 9 gan
2. &Y 3 f5He1 fawry figeii Hand fae™ 4 gafl
3. IEY T oot [Ty uarRl faere 4 gan
4, GOITG 371 [T [9H1 HHGRIY HarTd [deg I g

Options :
21052951389. 1
21052951390. 2




21052951391. 3
21052951392. 4

Question Number : 149 Question Id : 21052913029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Haemophilia is more commonly seen in human males than in human females because

1. It is a X-linked recessive disease
2. A greater proportion of girls die in infancy
3. It is a Y-linked recessive disease
4 It is a X-linked dominant disease

Options :

21052951393. 1
21052951394. 2
21052951395. 3
21052951396. 4

Question Number : 149 Question Id : 21052913029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ferifipfemr amg =R 8, Al &1 go 3 SiYeat U 9T 8

1. T8 X-HaF AUHE AT 8

2, PR Fia®I 9994 H ol 9 9l 6
3. 98 Y - Uad WHEI I 8

4. 78 X - Uy UHIEi I 8

Options :

21052951393. 1
21052951394. 2
21052951395. 3
21052951396. 4

Question Number : 150 Question Id : 21052913030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List I

A. Primary consumers  |l. Top carnivore
B. Tertiary consumers  |Il. Herbivore

C. Praducers 1. Carnivore
D. Secondary consumers||V. Plants

Choose the correct answer from the options given below:

1. A-lll, B-1, C-1V, D-lI
2. A-ll, B-l, C-IV, D-11
3. A-ll, B-lIl, C-I, D-IV
4. A-1l1, B-1l, C-1V, D-I

Options :

21052951397. 1
21052951398. 2
21052951399. 3
21052951400. 4

Question Number : 150 Question Id : 21052913030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl -1 & Gl -1l § GHferd DI :

BER -1l

3, WY SuHiaI |. Hdled HER]
9. gdigd IUHIaI I, ATBTER

g, JdGS 1., HEERT

<. fedia® Iyl Iv. e

i feu e fawedl o © Tgl IR gL

T.H-U,9d-1H-1IV,g-1l
2, d-L"H-1V, a1l
3H-Nd-1N,H-, -1V
4 -, 9d-1LH-1V, G-I

Options :

21052951397. 1
21052951398. 2
21052951399. 3
21052951400. 4






